Skanes BF
Allemanstraffen 53:e final, hcp 2016-04-03

Partavling, 54 bord, 108 par. Antal brickor: 48. Medel: 2544.0.

Plac Par

1 217
2 204
3 175
4 268
5 178
6 215
7 80
8 271
9 103
10 4
11 275
12 278
13 118
14 115
15 67
16 117
17 8
18 5
19 64
20 216
21 174
22 2
23 279
24 73
25 105
26 106

56 101

60 110
61 169

84 207
85 79

Poang

3153.3
3120.7
3109.4
3040.1
3016.6
2987.7
2915.6
2881.0
2846.5
2806.4
2796.5
2750.2
2742.8
2741.1
2732.7
2717.9
2717.2
2714.2
2711.2
2705.7
2697.1
2696.2
2685.5
2677.3
2675.4
2670.8
2669.8
2664.9
2661.0
2660.5
2656.6
2652.7
2652.4
2651.0
2647.6
2647.2
2639.5
2635.0
2624.8
2624.7
2614.6
2610.9
2608.2
2596.8
2594.9
2589.9
2586.0
2574.1
2567.2
2563.9
2559.2
2555.6
2550.7
2550.4
2547.4
2543.7
2528.4
2524.0
2522.9
2522.9
2515.8
2515.7
2515.0
2512.1
2510.4
2504.8
2499.4
2492.8
2474.0
2473.0
2464.1
2462.9
2451.1
2450.9
2436.8
2433.5
2433.4
2430.7
2428.0
2406.8
2400.1
2397.1
2388.4
2382.4
2377.6

%

61.97
61.33
61.11
59.75
59.29
58.72
57.30
56.62
55.95
55.16
54.96
54.05
53.91
53.87
53.71
53.42
53.41
53.34
53.29
53.18
53.01
52.99
52.78
52.62
52.58
52.49
52.47
52.38
52.30
52.29
52.21
52.14
52.13
52.10
52.04
52.03
51.88
51.79
51.59
51.59
51.39
51.31
51.26
51.04
51.00
50.90
50.83
50.59
50.46
50.39
50.30
50.23
50.13
50.13
50.07
49.99
49.69
49.61
49.59
49.58
49.45
49.44
49.43
49.37
49.34
49.23
49.12
48.99
48.62
48.61
48.43
48.41
48.17
48.17
47.89
47.83
47.83
47.77
47.72
47.30
47.17
47.11
46.94
46.82
46.73

Namn

Rickard Olsson - Tord Persson
Thomas Davy - Cornelia Tiller

Lena Goransson - Roland Gdéransson
Bjorn Gustavsson - Jon Eliasson
Bjorn Ericsson - Ted Jablonowski

Ola Svensson - Ann Sundgren
Kerstin Eberhardt - Anders Bengtsson
Magnus Wegestal - Martin Gardrup
Rikard Karlsson - Catarina Meland
Leif Graneli - Marianne Méller

Ann-Christine Nilsson - Marianne Wigrup-Andersson

Monica Pettersson - Kent Pettersson
Anders Olsson - Sten Ahligren

Daniel Matus - Daniel Gustafsson
Agneta Dunemark - Karin Andrée
Magnus Widarsson - Mona Mattsson
Gun Hirvonen - Reino Hirvonen

Stina Holm - Claes Gard

Staffan Lindberg - Christel Eklund
Sally Winther - Maud Ihd

Lars-Gunnar Ludvigsson - Jens Priess
Ove Jarnstrom - Christian Séderlund
Goran Stigsson - Sanna Stigsson
Per-Ingemar Nilsson - Anita Narfeldt
Erik Hilphers - Ingrid Lange

Eva Landin - Marianne Andersson
Hans-Olof Boman - Magne Andersson
Per Andersson - Bo Johansson
Vibeke Nilsson - Yvonne Wegbratt
Margareta Olsson - Sven Olsson
Charlotte Rudback - Mats Martensson
Per-Erik Persson - Gunnar Neovius
Stig Unoson - UIf Schjanberg

Rune Gustafsson - Ingrid Olsson
Lena Zetterlund - Christer Zetterlund
Kristina Johnson - Lotta Lundberg
Allan Jakobsson - Ingrid Priemer
Simon Granath - Sofia Olofsson

lldiko Lang - Magnus Friberg

Samuel Katzin - Erik Ackzell

Ritva Myrhagen - Joachim Wingardh
Eva Ekholm - Sonja Eriksson

Dan Nilsson - Mats Holm

Per Masback - Jonas Ohrn

Mats Andersson - Claudia Sjoberg
Torbjérn Herngren - Bjorn Eisner
Nicolae Ostner - Boguslaw Wlodarczyk
Pierre Carbonnier - Jan Gutenwik
Gunnel Rosberg - Ylva Isacsson

Inga Frojdh - Marianne Berglund
Anders Hagen - Ewa Larsén

Rune Gunnarsson - Jérgen Anderson
Monica Persson - Kenneth Broberg
Bertil Dahlberg - Margareta Dahlberg
Goran Andersson - Kent Borg
Maj-Christin Friberg - Barbro Linde
Allan Persson - Bo Holmqvist
Elisabeth Carlsson - Inger Berger
Sigbritt Person - Marita Dahlgvist
Lena Johansson - Heléne Sorensson
Gunilla Berthagen - Rosemary Palsson
Nils-Erik Ekholm - Ingemar Henrysson
Claes-Gdran Hansson - Géran Sandberg
John Svensson - Bo Persson

Gunilla Wallin - Hakan Myrhagen
Magnus Ohlsson - Christer Holst

Knut Nilsson - Hans Tambour
Veronica Helenius - Ann-Christin Pehrson
Dan Gustavsson - Annette Karlsson
Irene EImberg - Gudrun Areskoug
Mattias Wallin - Ted Boklin

Laila Rydje - Ann-Charlotte Gauffin
Berth Rasmusson - Birgitta Kiotseridis
Hakan Andersson - Maggie Rask
Peter Gati - Bengt Nilsson

Anita Gullberg - Wlodek Tugendraich
Anita Brundin - Eva Andersson

Asa Bergman - Judit Sardy

Leif Notesjo - Jorgen Nilsson

Richard Korse - Lena Jonsson

Jutta Ingvarsson - Bo Blixt

Gertrud Lindahl - Eva Andersson
Anita Nilsson - Ake Persson

Alva Pettersson - Holger Nordin
Kristina Andersson - Bo Nilsson

MID

29718
60200
35237
963
61180
21351
40510
91149
46839
18667
26420
54537
7280
90716
84993
37131
14428
8445
82137
93003
21719
30217
20772
5632
48214
86141
6430
44058
28173
14665
37098
5861
83337
5902
59661
26596
55042
26207
28328
53803
24760
16236
5967
21830
29670
26086
4465
5538
36169
44551
311
89476
46547
17193
45465
85262
11371
41838
91113
88058
57244
5455
91138
57265
48390
89166
14021
26609
24619
51333
51010
3430
5791
93980
11054
13513
26365
40462
4385
15157
78342
6091
6350
92991
85739

46784
39050
35238
47527
56721
39331
14586
36202
46834
61105
21717
54536
12399
89269
84991
30608
17358
46409
21519
30191
35470
38195
20773
41587
45023
86117
648
44063
14732
7891
37097
17106
4578
5895
59660
43210
54942
29978
57935
53890
34224
53119
4537
20408
55585
58760
20855
6302
39396
44550
83949
36194
46516
17192
91499
38006
1151
85917
82138
84805
57245
21350
35589
14015
411
48988
24753
91883
26680
51332
80306
17915
22803
88192
5797
82831
32226
89461
35231
17205
56087
37990
36143
45712
92555

Klubb

Bjarreds BK - Lomma BK
BK Bridgehuset - Pri-Bri 1936
BK ESS-lov

Kristianstads BK

BK Tre Sang, Helsingborg - Filbyter Bridge
Munka Ljungby BS
Bjarreds BK - Kristianstads BK
Malmo BK

Kristianstads BK
Kristianstads BK
Angelholms BS - Munka Ljungby BS
BK ESS-lov

BK Lavec

Lunds BK

Pri-Bri 1936

Hassleholms BK

BK Tre Sang, Helsingborg
BK Tre Sang, Helsingborg
BK Tre Sang, Helsingborg
Bridgeklubben 2 Kléver
Munka Ljungby BS
Bridgeklubben 2 Klover - Falsterbo BK
Bjarreds BK

BK Tre Sang, Helsingborg - Lomma BK
BK Fenix

Ellstorps BK

Ostra Torps BS

Ystads BS

Staffanstorps BK

Ahus BK

Lunds BK

Kristianstads BK

BK Bridgehuset

Klippans BK

Angelholms BS

Lunds BK - BK Bridgehuset
Kristianstads BK

Malmo BK

Malmo BK - BK Bridgehuset
Lunds BK

BK Sekvens, S-torp
Angelholms BS

Ystads BS - Malmé BK
Sddra Sandby BK

Pri-Bri 1936 - Lunds BK
BK Tre Sang, Helsingborg
Malmd BK - Lunds BK
LUCK - Malmd BK

BK Zonen

Ahus BK

BK Tre Sang, Helsingborg
Kristianstads BK
Angelholms BS

BK Tre Sang, Helsingborg
BK Zonen

BK Tre Sang, Helsingborg
Lomma BK - BK Axet
Ystads BS - BK Fenix
Kristianstads BK

BK Zonen

BK Tre Sang, Helsingborg
Munka Ljungby BS
Bridgeklubben 2 Kléver
Lunds BK - Lomma BK

BK Bridgehuset - BK Sekvens, S-torp
Kristianstads BK

Bjarreds BK

Solvesborgs BK

BK Zonen

Bjarreds BK

Bjarreds BK

Héllvikens BK - BK Zonen
Malmé BK

Pri-Bri 1936

Malmé BK

Lunds BK

BK Fenix - Ystads BS
Sélvesborgs BK

Lomma BK

Malmo BK

BK Tre Sang, Helsingborg
BK Tre Sang, Helsingborg
BK Fenix - Ystads BS
Bridgeklubben 2 Kléver

BK ESS-lov
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86 177 2361.0 46.40 Johan Erlandsson - Alf Roos 17710 92856 Lunds BK
87 11 2344.3 46.07 Curt Wells - Borje Vestesson 49482 14816 Lunds BK - Sélvesborgs BK
88 270 2344.2 46.07 Shaun Jacobsen - Calle Lilliegren 49498 86932 BK Tre Sang, Helsingborg - Gamleby BK
89 164 2342.3 46.04 Junot Delcomyn - Ann-Charlotte Lundin 85783 5727 Hollvikens BK - Malmé Dam BK
90 272 2338.5 45.96 Sonja Nilsson - Marianne Moller 94186 20829 Kristianstads BK - Ahus BK
91 12 2330.4 45.80 Annika Nivestam - Thorbjérn Haraldsson 36090 36089 Lunds BK
92 277 2320.0 45.60 Peter Moricz - Lars Becklén 25801 80419 BK Bridgehuset - Malmd BK
93 214 2309.3 45.39 Lars Olsson - Anders Holmgren 38856 11513 BK Zonen
94 3 2302.2 45.25 Anders Karlsson - Orjan Odén 78684 28909 Ystads BS
95 266 2295.7 45.12 Birgit Larsson - Monica Lessing 91263 87483 Lomma BK - Malm6 BK
96 10 2274.1 44.70 Vanda Nordstrom - Karl-Géran Nordstrom 48979 41032 Klippans BK
97 102 2262.0 44.46 Ingel Granath - Sonja Sérang 91102 49891 Kristianstads BK - Ahus BK
98 167 2246.6 44.16 Soren Halvarsson - Ingemar Soderberg 78493 87321 BK Zonen
99 265 2236.2 43.95 Folke Nilsson - Mats Andersson 6351 6258 BK Fenix - Ystads BS
100 76 2226.8 43.76 Bengt Sahlstrém - Barbara Sahlstrom 53453 53454 Malmé BK
101 274 2200.7 43.25 Leif Larsson - Bengt Johansson 20775 83944 BK Tre Sang, Helsingborg
102 173 2199.9 43.24 Magnus Wabhlstrom - Berny Thomsner 86448 87232 Bijarreds BK
103 74 2188.8 43.02 Jan Ahlkvist - Ulla Linse 39033 27725 BK Zonen - Malmé BK
104 209 2182.6 42.90 Birgitta Bornestav - Olle Hedman 36526 310 BK Tre Sang, Helsingborg
105 69 2156.4 42.38 Thyra Schultz - Lars Elmskog 55645 55646 Ellstorps BK
106 116 2141.4 42.09 Jan Clementsson - Bonnie Clementsson 55627 55628 BK Bridgehuset
107 218 2076.5 40.81 Anders Freij - Karin Brundell-Freij 5548 5547 LUCK
108 107 2006.8 39.44 Britta Karnehed - Staffan Lundskog 92594 48090 BK Tre Sang, Helsingborg
1 sE74 Basta kontrakt 2 4 E82 Basta kontrakt 3 & DKn2 Basta kontrakt
Nord v74 3v O =-140 Ost vEK ANT S =630 Syd v 3863 3NT S =400
Ingen + Kn10642 NS + DKn104 ov + KD75
#Kn62 & ¢ v & NT #EKn104 & ¢ v & NT #KD2 & ¢ v & NT
4965 4 Kn3 N35464 4Kn976 443 N 6 10101010 410983 4765 N9 8899
vE10853 v KKn S 35464 v94 v Kn62 S 6 10101010 v74 v EK1052 S98899
¢85 ¢ED73 O 108 9 6 8 ¢E5 ¢ K982 06 2233 +E862 ¢ Kn43 034543
#K103 #ED987 V 108 9 6 8 #K8763 #D952 V63233 #1076 #Knb V34543
4 KD1082 4 KD105 « EK4
v D962 vD108753 v DKn9
+ K9 ¢ 763 + 109
«54 »- #E9843
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
177 108 54D O -2 4K 300 106.0 00| 3 78 3NN+3 +5 690 106.0 0.0| 65 18 3NS+2 &T 460 101.0 5.0
80 1 540-3 &K 150 102.0 4.0(280 202 4v S+2 +A 680 1040 20| 66 17 3NS+2 v7 460 101.0 5.0
113 172 4v V-3 «A 150 102.0 40| 64 17 3NN+2 &4 660 990 7.0 72 11 3NS+2 &T 460 101.0 5.0
275 208 2NO-3 &K 150 102.0 4.0|102 104 3NN+2 +2 660 99.0 7.0(103 178 3NS+2 &T 460 101.0 5.0
178 107 24 S= &K 110 97.0 9.0(178 107 3NN+2 &2 660 99.0 7.0(168 113 3NS+2 49 460 101.0 5.0
277 206 24 S= +8 110 97.0 9.0(270 213 3NN+2 &5 660 99.0 7.0(171 110 3NS+2 &T 460 101.0 5.0
63 18 54 0-2 4K 100 90.0 16.0| 11 70 4v S+1 46 650 88.0 18.0| 10 73 3NS+1 v4 430 74.0 32.0
111 174 54 0 -2 4K 100 90.0 16.0| 63 18 4v S+1 46 650 88.0 18.0(| 12 71 3NS+1 &T 430 74.0 32.0
169 116 54 0-2 4K 100 90.0 160 80 1 4v S+1 &3 650 88.0 180 16 67 3NS+1 2 430 740 32.0
171 114 54 0-2 v6 100 90.0 16.0|105 101 5v S= ¢+A 650 88.0 18.0| 64 63 3NN+1 vA 430 74.0 32.0
175 110 44 O -2 4K 100 90.0 16.0 (113 172 4v N+1 &3 650 88.0 18.0| 68 15 3NS+1 T 430 74.0 32.0
9 72 3#0-1 #4 50 74.0 32.0(216 267 4v S+1 ¢A 650 88.0 18.0| 70 13 3NS+1 &T 430 740 32.0
64 17 44 0-1 «K 50 74.0 32.0|265 218 4v N+1 «4 650 88.0 18.0(| 74 9 3NS+1 &3 430 74.0 32.0
69 12 44 0-1 4A 50 740 320| 75 6 3NN+1 8 630 73.0 33.0| 75 8 3NS+1 T 430 74.0 32.0
73 8 3v V-1 4A 50 740 32.0|166 163 3NN+1 &5 630 730 33.0| 76 7 3NN+1 v2 430 740 32.0
74 7 540-1 &K 50 74.0 32.0|169 116 3NN+1 &5 630 73.0 33.0[111 170 3NS+1 v7 430 74.0 32.0
201 203 4v V-1 44 50 74.0 32.0|266 217 3NN+1 «4 630 73.0 33.0|115 166 3NS+1 ¥3 430 74.0 32.0
205 278 44 O-1 «K 50 740 32.0|269 214 3NN+1 4 630 73.0 33.0|165 116 3NS+1 T 430 740 32.0
212 271 4v V-1 aA 50 74.0 32.0|274 209 3NN+1 44 630 73.0 33.0|173 108 3NS+1 T 430 74.0 32.0
268 215 44 O-1 «K 50 74.0 32.0|275 208 3NN+1 &2 630 73.0 33.0|174 107 3NS+1 48 430 74.0 32.0
269 214 44 O-1 42 50 740 32.0|277 206 3NN+1 44 630 73.0 33.0|176 105 3NN+1 vK 430 740 32.0
276 207 3NO-1 2 50 740 320| 15 66 4v S= ¢A 620 39.0 67.0(180 101 3NS+1 &8 430 74.0 32.0
3 78 24 S-1 &K -50 61.0 45.0| 65 16 4v S= ¢+A 620 39.0 67.0|213 272 3NS+1 &T 430 74.0 32.0
71 10 34 S-1 &3 -50 61.0 45.0| 68 13 4v S= ¢A 620 39.0 67.0(265 264 3NN+1 vA 430 740 32.0
67 14 34 S-2 46 -100 51.0 55.0| 69 12 4v S= ¢A 620 39.0 67.0(276 209 3NS+1 &T 430 740 32.0
170 115 34 S-2 +38 -100 51.0 55.0| 71 10 4v S= ¢+A 620 39.0 67.0|277 208 3NS+1 &T 430 74.0 32.0
180 103 34 S-2 &K -100 51.0 550| 73 8 44 N= ¢A 620 39.0 67.0(278 207 3NS+1 &T 430 740 32.0
204 279 34 S-2 +A -100 51.0 55.0| 74 7 4v S= v9 620 39.0 67.0 1 3 3NS= 4T 400 36.0 70.0
264 263 34 S-2 43 -100 51.0 55.0| 76 5 4v S= ¢+A 620 39.0 670| 5 78 3NS= 43 400 36.0 70.0
265 218 34DS-1 ¢8 -100 51.0 550| 79 2 4vS= ¢A 620 39.0 67.0| 69 14 3NN= v2 400 36.0 70.0
266 217 34 S-2 43 -100 51.0 55.0(106 179 4v S= ¢A 620 39.0 670/ 80 2 3NS= ¢2 400 36.0 70.0
272 211 34 S-2 +8 -100 51.0 55.0 (111 174 4v S= ¢+A 620 39.0 67.0|109 172 3NS= ¢2 400 36.0 70.0
79 2 3#0= v6 -110 38.0 68.0|165 164 4v S= ¢A 620 39.0 67.0(163 118 3NS= «T 400 36.0 70.0
105 101 3# O = 4K -110 38.0 68.0(167 118 4vy N= 44 620 39.0 67.0|175 106 3NS= ¢6 400 36.0 70.0
106 179 34 0= &K -110 38.0 68.0 (170 115 4v S= +8 620 39.0 67.0|179 102 3NS= 4T 400 36.0 70.0
210 273 34 0= &K -110 38.0 68.0 (171 114 4v S= ¢A 620 39.0 67.0(202 204 3NS= v7 400 36.0 70.0
216 267 34 O= &K -110 38.0 68.0(175 110 4v S= &8 620 39.0 67.0|205 201 3NS= ¢2 400 36.0 70.0
11 70 34 O+1 &K -130 25.0 81.0(176 109 4v S= ¢A 620 39.0 67.0|206 279 3NS= v7 400 36.0 70.0
15 66 3#O0+1 &K -130 25.0 81.0(177 108 4v S= ¢A 620 39.0 67.0(211 274 3NS= «T 400 36.0 70.0
65 16 34 O+1 4K -130 25.0 81.0(201 203 4v S= 47 620 39.0 67.0|217 268 3NS= v7 400 36.0 70.0
68 13 340 +1 4K -130 25.0 81.0(205 278 4vy N= ¢8 620 39.0 67.0|266 263 3NS= 4T 400 36.0 70.0
75 6 440= 4K -130 25.0 81.0(210 273 4v S= ¢A 620 39.0 67.0(267 218 3NN= v2 400 36.0 70.0
76 5 464 0= 4K -130 25.0 81.0(212 271 4v S= ¢A 620 39.0 67.0|271 214 3NS= 4T 400 36.0 70.0
165 164 44 O = 4K -130 25.0 81.0(264 263 4v S= ¢A 620 39.0 67.0|280 203 3NN= v2 400 36.0 70.0
173 112 34 O +1 &K -130 25.0 81.0(268 215 4v S= ¢A 620 39.0 67.0(275 210 2NS+3 48 210 18.0 88.0
4 77 3v V= 4aA -140  12.0 94.0(272 211 4v S= 47 620 39.0 67.0|164 117 INS+3 v7 180 15.0 91.0
117 168 3v O= 4A -140 12.0 94.0 (276 207 4v S= ¢+A 620 39.0 67.0|269 216 2NS+2 +2 180 15.0 91.0
167 118 2v O +1 42 140 12.0 940 9 72 3NN= &2 600 120 94.0| 4 79 34S= v7 110 9.0 97.0
270 213 2v O+1 &K -140 120 940(| 4 77 6NN-1 2 -100 7.0 99.0 (104 177 3&S= v7 110 9.0 97.0
274 209 2y V+1 v4 -140  12.0 940(| 67 14 5vS-1 +A -100 7.0 99.0(270 215 24 S+1 7 110 9.0 97.0
176 109 44 S-3 YA -150 5.0 101.0 (180 103 5v S-1 +¢A -100 7.0 99.0(273 212 34 S= v7 110 9.0 97.0
280 202 34 S-3 #K -150 5.0 101.0 {204 279 4v S-1 +A -100 7.0 99.0(169 112 24 S= v7 90 4.0 102.0
102 104 34 S-4 +38 -200 2.0 104.0 (117 168 6NN-2 &3 -200 1.0 105.0|167 114 3NS-1 v7 -50 2.0 104.0
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166 163 4v V= v7 -420 0.0 106.0 (173 112 6v S-2 ¢5 1.0 1050| 77 6 54S-2 w7 -100 0.0 106.0
4 » EK3 Basta kontrakt 5 & 752 Basta kontrakt 6 « 8754 Basta kontrakt
Vast v KD654 ANTV =-630 Nord vK 3v O =-140 Ost v D632 5v SD-2-300
Alla 762 NS + D1053 ov + K82
&53 ¢ v & NT #DKn985 & ¢ v &N #103 & ¢ v & NT
4106 & D42 N 06 40 4DKn86 #4104 75455 & EKD2 & Kn10963 N7 7 937
v E873 v2 S 06 40 v E54 v D10963 75455 v 1075 v K4 S87 937
¢E ¢KDKn543 O 11117 7 10 + K6 ¢ Kn9842 6 897 8 ¢ E + D9754 O5 6 4 106
&#EKDKN94 #762 vV 11117 7 10 #EK4A3 &2 6 8978 #Kn8765 %9 V45396
& Kn9875 & EK93 a-
v Kn109 v Kn872 v EKn98
41098 ¢ E7 + Kn1063
#108 #1076 &EKD42
Par Kontr Ut Res Poang Par Kontr Ut Poang Par Kontr Ut Res Poang
168 113 7NDV-3 4A 800 106.0 00| 66 63 2NV-4 #Q 106.0 0.0|264 217 4v S+1 A 450 106.0 0.0
174 107 44 V-2 «A 200 104.0 2.0|105 178 2«#DN= «Q 104.0 20| 67 18 4v N= &9 420 104.0 2.0
1 3 3NV-1 5 100 950 110 78 7 4v V-2 &Q 98.0 8.0|112 171 3v V-4 &T 400 102.0 4.0
66 17 6#V-1 &A 100 95.0 11.0(166 117 3NV-2 #J 98.0 8.0|116 167 34DV-1 &T 200 97.0 9.0
69 14 3NV-1 v6 100 95.0 11.0(265 216 3v O-2 &7 98.0 8.01271 210 44 V-2 &T 200 97.0 9.0
70 13 3NO-1 +J 100 95.0 11.0(268 213 24DV -1 vK 98.0 8.0|279 202 44 O-2 &T 200 97.0 9.0
72 11 3NV-1 v4 100 95.0 11.0|276 205 24 V-2 vK 98.0 8.01280 201 2« V-2 v2 200 97.0 9.0
165 116 3NV-1 ¢4 100 95.0 11.0(176 107 2# N= LY:] 91.0 15.0(174 109 3v N= «J 140 91.0 15.0
271 214 64V-1 &K 100 95.0 11.0(274 207 INS= &3 91.0 15.0 (203 278 3v N= &9 140 91.0 15.0
276 209 64V-1 &A 100 95.0 11.0|170 113 1a S= vA 88.0 18.0(104 179 14 S+2 +¢A 110 87.0 19.0
176 105 3« V+1 &K -130 86.0 20.0| 65 64 3v O-1 &6 71.0 35.0|209 272 2« S+1 ¢A 110 87.0 19.0
164 117 3V +2 &A -150 78.0 28.0( 67 18 INV-1 &Q 71.0 350| 75 10 44 O-1 &A 100 79.0 27.0
169 112 34V +2 &A -150 78.0 28.0( 70 15 4v V-1 #Q 71.0 350|170 113 34 V-1 &T 100 79.0 27.0
175 106 4% V+1 &A -150 78.0 280| 75 10 3vV-1 #Q 71.0 35.0|211 270 44 O-1 &A 100 79.0 27.0
180 101 34V +2 &A -150 78.0 28.0( 77 8 3v O-1 &T 71.0 35.0|265 216 34 O-1 #Q 100 79.0 27.0
202 204 34V +2 &A -150 78.0 28.0(101 103 3v V-1 &5 71.0 35.0|268 213 34 O-1 #A 100 79.0 27.0
217 268 34V +2 &K -150 78.0 28.0(104 179 INV-1 ¥K 71.0 35.0|274 207 24 V-1 &T 100 79.0 27.0
278 207 34V +2 &A -150 78.0 28.0(116 167 2NV -1 &#Q 71.0 35.0 6 79 3v N-1 &9 -50 67.0 39.0
5 78 24V +4 &A -170  65.0 41.0(164 163 3v V-1 +¢5 71.0 35.0|164 163 4 S-1 +A -50 67.0 39.0
12 71 34V +3 &K -170  65.0 41.0(165 118 24 V-1 &2 71.0 35.0(172 111 3¢ N-1 #9 -50 67.0 39.0
68 15 3« V+3 vK -170  65.0 41.0(172 111 3v V-1 &5 71.0 35.0|180 102 3¢ S-1 «A -50 67.0 39.0
179 102 34V +3 &A -170 65.0 41.0(174 109 3NO-1 &K 71.0 35.0|204 277 3vy N-1 %9 -50 67.0 39.0
205 201 44V +2 &K -170 65.0 41.0(180 102 3v V-1 +A 71.0 35.0(|267 214 2 S-1 &A -50 67.0 39.0
269 216 34V +3 &A -170 65.0 41.0(263 218 2¢ O-1 &A 71.0 35.0 2 4 4vS-2 +A -100  51.0 55.0
267 218 2NV +2 &A -180 58.0 48.0(273 208 3NV-1 #Q 71.0 35.0 5 1 2#S-2 +A -100  51.0 55.0
171 110 34V +4 &5 -190 56.0 50.0 (275 206 2NV -1 &#Q 71.0 350| 11 74 INN-2 &J -100  51.0 55.0
211 274 3v N-3 +¢K -:300 540 520 11 74 INV= vK 50.0 56.0| 17 68 4vDS-1 ¥5 -100  51.0 55.0
75 8 5#V= aA -600 46.0 60.0( 17 68 INV= vK 50.0 56.0 (101 103 3#S-2 +A -100  51.0 55.0
80 2 3NV= v5 -600 46.0 60.0 (112 171 INV= *Q 50.0 56.0|165 118 4v S-2 «&A -100  51.0 55.0
109 172 5« V= s A -600 46.0 60.0 (175 108 1INV = vK 50.0 56.0 (169 114 3¢ S-2 &K -100  51.0 55.0
173 108 5# V= a A -600 46.0 60.0 (203 278 1INV = vK 50.0 56.0 (176 107 4v S-2 +A -100  51.0 55.0
206 279 3NV= vK -600 46.0 60.0 6 79 2NN-1 &2 40.0 66.0 (215 266 3v S-2 &A -100  51.0 55.0
213 272 5& V= s A -600 46.0 60.0( 69 16 2#S-1 &Q 40.0 66.0 (263 218 24 S-2 +¢A -100 51.0 55.0
275 210 3NO= vJ -600 46.0 60.0( 76 9 34 S-1 &7 40.0 66.0 (275 206 24 V= &3 -110 40.0 66.0
10 73 54V +1 &K -620 34.0 72.0(209 272 34S-1 &Q 40.0 66.0| 13 72 34 V= &T -140 320 74.0
64 63 5&V+1 &A -620 34.0 72.0(280 201 34S-1 v4 40.0 66.0| 66 63 24 O+1 #A -140 320 74.0
76 7 54 V+1 &A -620 34.0 720 5 1 2vV= a7 320 740 73 12 34 O= #A -140 320 74.0
77 6 5#V+1 &A -620 34.0 72.0|169 114 2v V= &5 320 740 80 3 340= &A -140 320 74.0
280 203 54V +1 &K -620 34.0 72.0(271 210 2v V= &Q 320 74.0(105 178 34 V= &T -140 320 74.0
4 79 3NV+1 oK -630 20.0 86.0(168 115 1INV +1l vK 27.0 79.0|168 115 24 V+1 43 -140 320 74.0
74 9 3NV+1 K -630 20.0 86.0(215 266 INV+l1 ¢K 27.0 79.0(273 208 24 O+1 &K -140 320 74.0
103 178 3NV +1 ¢K -630 20.0 86.0 2 4 3v0O= ¢A 21.0 85.0| 65 64 6vy N-3 4] -150 24.0 82.0
104 177 3NV +1 #5 -630 20.0 86.0 13 72 24 V+1 vK 210 85.0| 77 8 34 O+1 &A -170 20.0 86.0
111 170 3NV +1 ¢K -630 200 86.0| 80 3 2vV+l &Q 21.0 85.0|175 108 24 O+2 &A -170  20.0 86.0
163 118 3NV +1 v6 -630 20.0 86.0(267 214 3vy O= &A 21.0 85.0|269 212 34 O+1 &A -170 20.0 86.0
167 114 3NV +1 &A -630 200 86.0| 71 14 2NV +1 ¢¥K 140 920| 70 15 3#DS-2 &K -300 13.0 93.0
265 264 3NV +1 &K -630 20.0 86.0(211 270 INV+2 vK 140 920| 71 14 44D S-2 4Q -300 13.0 93.0
273 212 3NV +1 v4 -630 20.0 86.0(264 217 INV+2 vK 14.0 92.0|177 106 3&«DS-2 +A -300  13.0 93.0
115 166 3NV +2 &A -660 8.0 98.0(177 106 INDV= &Q 10.0 96.0|276 205 5¢vDS-2 ¢A -300 13.0 93.0
266 263 3NV +2 &K -660 80 980| 73 12 3#S-2 YA 70 99.0| 69 16 34DS-3 4A -500 7.0 99.0
270 215 3NV +2 &K -660 8.0 98.0(279 202 44 N-2 &T 70 990 76 9 5vDS-3 ¢A -500 7.0 99.0
65 18 3NV +3 #A -690 3.0 103.0 (110 173 24 S-3 &A 2.0 1040| 78 7 44 O= &A -620 4.0 102.0
277 208 3NV +3 &A -690 3.0 103.0 (204 277 24 N-3 &A 2.0 104.0 (110 173 44 V+1 v6 -650 2.0 104.0
16 67 54DV= &A -750 0.0 106.0 |[269 212 24 S-3 &A 2.0 104.0 166 117 44D O = &K -790 0.0 106.0
7 D104 Basta kontrakt 8 & EKD107 Basta kontrakt 9 « EK10 Basta kontrakt
Syd v KD76 24 V =-110 Vast v ED3 ANT N =430 Nord v5 ANT N =430
Alla + K92 Ingen + ED103 ov + E762
&»E82 & ¢ v & NT a7 N Y #Kn9754 ¢ v & NT
#8732 & EKn6 N5 4656 & Kn6 & 9542 8 119 1 & Kn875 462 N 10105 9 10
vKn v E95432 S54656 v10652 vK87 8 119 1 v KDKn10832 v96 S 10105 9 10
+ E106 + D75 0877 86 ¢ 752 + K86 52 42 *4 ¢ Kn985 032833
&#DKn743 &K V87 7 86 #Knl1063 #KD9 5242 &6 &#EK832 V32843
& K95 483 4 D943
v108 v Kn94 vE74
+ Kn843 + Kn94 + KD103
#10965 &E8542 D10
Par Kontr ut Res Poang Par Kontr ut Poang Par Kontr ut Res Poang
67 64 3v0O-2 T 200 1020 40| 71 16 3NN+3 v7 105.0 1.0|272 263 5¢DS= vK 550 106.0 0.0
68 63 3v O-2 &5 200 102.0 4.0| 77 10 3NN+3 #7 105.0 1.0 7 3 5vDV-2 A 500 104.0 2.0
77 10 2v O-2 &5 200 102.0 4.0 70 17 44 N+2 &2 102.0 4.0|178 109 3NS+1 T 430 102.0 4.0
105 107 2v O-2 45 200 102.0 4.0 3 5 3NN+2 +6 87.0 19.0 8 2 44 S= ¢4 420 98.0 8.0
279 210 3vy O-2 «&T 200 102.0 4.0| 18 69 3NN+2 ¢7 87.0 19.0(174 113 44 S= vT 420 98.0 8.0
271 218 INDN= ¥3 180 96.0 100 80 4 3NN+2 a2 87.0 19.0(180 104 44 S= &6 420 98.0 8.0
207 203 1vDN= «A 160 94.0 12.0|105 107 3NS+2 ¥5 87.0 19.0| 15 74 5¢ S= vK 400 85.0 21.0
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14 73 2v0O0-1 8 100 83.0 23.0(108 104 3NN+2 #9 460 87.0 19.0| 67 66 3NS= vK 400 85.0 21.0
18 69 2v O-1 «5 100 83.0 23.0(170 165 3NN+2 v7 460 87.0 19.0( 73 16 3NS= v3 400 85.0 21.0
74 13 2NO-1 T 100 83.0 23.0(173 118 3NS+2 ¥5 460 87.0 19.0 (106 102 3NS= vK 400 85.0 21.0
78 9 3NO-1 «T 100 83.0 23.0(215 274 3NN+2 v7 460 87.0 19.0(118 169 3NS= vK 400 85.0 21.0
168 167 3« V-1 vK 100 83.0 23.0(263 270 3NN+2 v7 460 87.0 19.0(171 116 3NS= vK 400 85.0 21.0
170 165 3v O-1 &T 100 83.0 23.0(268 265 3NN+2 &5 460 87.0 19.0(179 108 3NS= vK 400 85.0 21.0
178 113 2v O-1 45 100 83.0 23.0(271 218 3NS+2 ¥5 460 87.0 19.0 (205 207 3NS= vK 400 85.0 21.0
180 106 2v O-1 &T 100 83.0 23.0(272 217 3NN+2 &9 460 87.0 19.0 (209 203 3NS= vK 400 85.0 21.0
215 274 2NO-1 T 100 83.0 23.0|275 214 3NN+2 97 460 87.0 19.0(264 271 3NS= vK 400 85.0 21.0
273 216 2v O-1 ¢4 100 83.0 23.0(280 205 3NN+2 v7 460 87.0 190 4 6 3vDV-1 &K 200 70.0 36.0
12 75 1v N= &K 80 710 35.0| 66 65 44 N+1 «2 450 68.0 38.0| 68 65 3vDV-1 «A 200 70.0 36.0
268 265 1vy N= ¢7 80 71.0 350| 76 11 44 N+1 &5 450 68.0 38.0| 80 5 3vDV-1 A 200 70.0 36.0
108 104 1v N-1 ¢5 -100 63.0 43.0(208 202 44 N+1 7 450 68.0 38.0|167 164 4vDV-1 4A 200 70.0 36.0
179 112 1v N-1 ¢5 -100 63.0 43.0(269 264 44 N+1 7 450 68.0 38.0|216 275 4v V-2 ¢A 200 70.0 36.0
201 209 1v N-1 7 -100 63.0 43.0(277 212 44 N+1 7 450 68.0 38.0| 79 10 4¢ S+1 vK 150 63.0 43.0
208 202 1v N-1 ¢5 -100 63.0 430 7 1 3NS+1 7 430 54.0 52.0(114 173 2NS+1 vK 150 63.0 43.0
269 264 1v N-1 &K -100 63.0 43.0| 12 75 3NN+1 &5 430 54.0 52.0(270 265 34 S= #6 140 59.0 47.0
280 205 INS-1 43 -100 63.0 43.0(116 175 3NS+1 &J 430 54.0 52.0(280 206 34 S= #6 140 59.0 47.0
3 52v0= T -110 48.0 58.0(176 115 3NN+1 3 430 54.0 520 13 76 24 S= vK 110 55.0 51.0
66 65 2v O= &T -110 48.0 58.0(178 113 3NS+1 &T 430 54.0 52.0(201 211 24 S= vK 110 55.0 51.0
79 8 2v0O= ¢4 -110 48.0 58.0(201 209 3NS+1 &6 430 54.0 52.0|107 101 4v V-1 «4A 100 51.0 55.0
101 111 2v O= &6 -110 48.0 58.0(204 206 3NS+1 7 430 54.0 52.0(278 213 3v V-1 &A 100 51.0 55.0
109 103 2v O= &5 -110 48.0 58.0(213 276 3NS+1 7 430 54.0 52.0 1 9 44 S-1 vK -50 35.0 71.0
164 171 2v O= &T -110 48.0 58.0(278 211 3NN+1 49 430 540 520| 63 70 3NS-1 vK -50 35.0 71.0
172 163 2v O= &5 -110 48.0 580 6 2 44 N= &K 420 36.0 70.0| 72 17 44 S-1 &5 -50 35.0 71.0
173 118 14 V+1 ¢2 -110 48.0 58.0| 68 63 44 N= &K 420 36.0 70.0| 77 12 3NS-1 vK -50 35.0 71.0
267 266 2v O= v8 -110 48.0 58.0| 72 15 44 N= &K 420 36.0 70.0(112 175 4¢ S-1 %6 -50 35.0 71.0
76 11 2v O+1 &T -140 33.0 73.0| 79 8 44 N= &K 420 36.0 70.0(168 163 5¢ S-1 vK -50 35.0 71.0
80 4 3vO= T -140 33.0 73.0(102 110 44 N= &K 420 36.0 70.0(176 111 3NS-1 vK -50 35.0 71.0
169 166 2v O +1 &T -140 33.0 73.0|114 177 44 N= &4 420 36.0 70.0(177 110 44 S-1 +4 -50 35.0 71.0
176 115 2v O+1 &3 -140 33.0 73.0(169 166 44 N= &5 420 36.0 70.0(202 210 44 S-1 +4 -50 35.0 71.0
263 270 24 V+1 &2 -140 33.0 73.0|172 163 44 N= &4 420 36.0 70.0 (214 277 44 S-1 vK -50 35.0 71.0
277 212 1v O+2 &T -140 33.0 73.0(279 210 44 N= &K 420 36.0 70.0(268 267 5¢ N-1 vK -50 35.0 71.0
72 15 24 V+2 #A -170 26.0 80.0| 14 73 3NS= &J 400 21.0 85.0|269 266 44 S-1 ¢4 -50 35.0 71.0
71 16 1lv N-2 &K 200 19.0 87.0| 74 13 3NS= v6 400 21.0 85.0|273 218 3NS-1 ¥K -50 35.0 71.0
174 117 1lv N-2 &K 200 19.0 870| 78 9 3NS= &3 400 21.0 85.0|276 215 44 S-1 vK -50 35.0 71.0
204 206 1vy N-2 #2 200 19.0 87.0(109 103 3NN= &3 400 21.0 85.0| 69 64 44 S-2 ¢4 -100 13.0 93.0
213 276 1v N-2 &K -200 19.0 87.0(164 171 3NS= &6 400 21.0 850| 75 14 5¢ S-2 &6 -100 13.0 93.0
272 217 1v N-2 &K -200 19.0 87.0(267 266 3NN= &K 400 21.0 850| 78 11 3NS-2 ¥K -100 13.0 93.0
278 211 1v N-2 &K 200 19.0 87.0(180 106 14 N+4 7 200 14.0 92.0|103 105 44 S-2 vK -100 13.0 93.0
6 2 1vN-3 &K -300  11.0 95.0(101 111 34 N+1 &K 170 12.0 94.0|166 165 44 S-2 vK -100 13.0 93.0
7 1 1vN-3 &K -300 11.0 95.0| 67 64 3NS-1 7 -50 6.0 100.0 (172 115 44 N-2 &A -100  13.0 93.0
102 110 1v N-4 &K -400 7.0 99.0(168 167 3NS-1 #2 -50 6.0 100.0 (208 204 5¢DS-1 #6 -100 13.0 93.0
116 175 1lv N-4 &K -400 7.0 99.0(174 117 64 N-1 &4 -50 6.0 100.0 274 217 44 N-2 vQ -100 13.0 93.0
275 214 1vDN-2 ¢5 -500 4.0 102.0|207 203 44 N-1 &K -50 6.0 100.0 (279 212 3v V= &K -140 4.0 102.0
70 17 1vDN-3 «K -800 1.0 105.0 (273 216 3NS-1 v2 -50 6.0 100.0 (170 117 3vyDV = &K -730 2.0 104.0
114 177 2#DN-3 &K -800 1.0 105.0 (179 112 6NDN-4 4 -800 0.0 106.0| 71 18 4vDV= &A -790 0.0 106.0
10 4 Kn2 Basta kontrakt 11 4109 Basta kontrakt 12 4 K765 Basta kontrakt
Ost v ED105 3v S =140 Syd v KD97 3v SD-1-100 Vast v74 4¢ V =-130
Alla + E873 Ingen 4 Kn32 NS + 1092
#Kn96 & ¢ v & NT #KD95 & ¢ v & NT #ED108 & ¢ v & NT
D43  #E1097 N 10109 8 8 4 DKn864 #E73 N5 4846 4 EKn42 4 D109 N6 3845
v 8642 vKKn3 S 10109 8 8 v 64 v 108 S 54846 v9 v EK83 S 63845
¢+ Kn65 ¢ K42 0334514 ¢+ ED10 + K965 088587 + KD765 ¢ Kn83 07 9588
852 #K43 V334514 #873 #EKn62 V88587 #976 K43 V 7 105 8 8
& K865 4 K52 483
v 97 v EKn532 v DKn10652
+ D109 + 874 ¢ E4
#ED107 »104 #Kn52
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 74 3NS= 43 600 105.0 1.0(108 102 3v N+1 &A 170 106.0 0.0|206 202 3NO-3 vQ 150 105.0 1.0
80 5 3NS= 8 600 105.0 1.0| 16 75 3vS= 46 140 102.0 4.0(279 208 3NO-3 vQ 150 105.0 1.0
166 165 INO-3 v9 300 102.0 4.0(163 170 2v S+1 8 140 102.0 4.0 (207 201 2v S= +5 110 102.0 4.0
7 3 140-2 v9 200 93.0 13.0(207 201 3v S= #8 140 102.0 4.0|268 263 3NO-2 vQ 100 100.0 6.0
103 105 14 O-2 ¢9 200 93.0 13.0(206 202 2¢v N= T 110 96.0 10.0 (113 176 INO-1 vJ 50 93.0 13.0
118 169 INO-2 46 200 93.0 13.0(267 264 1v S+1 &6 110 96.0 10.0 (180 105 44 V-1 v7 50 93.0 13.0
205 207 24 O-2 +9 200 93.0 13.0(274 213 2v N= 2 110 96.0 10.0|203 205 34 V-1 v7 50 93.0 13.0
216 275 14 O-2 v9 200 93.0 13.0|179 110 44 V-2 vK 100 91.0 15.0|267 264 3NO-1 &2 50 93.0 13.0
264 271 INO-2 45 200 93.0 13.0|212 275 INO-2 +3 100 91.0 15.0|274 213 3NO-1 vQ 50 93.0 13.0
269 266 14 O-2 v9 200 93.0 13.0| 17 74 Pass 88.0 18.0(278 209 44 O-1 +¢A 50 93.0 13.0
270 265 14 O-2 8 200 93.0 13.0(173 116 2v S-1 v4 -50 84.0 22.0| 8 4 Pass 86.0 20.0
179 108 INN+3 T 180 84.0 22.0(177 112 3v N-1 A -50 84.0 22.0|214 273 3v S-1 +¢K -100 84.0 22.0
114 173 2NN+1 2 150 79.0 27.0|268 263 3v S-1 4Q -50 84.0 22.0| 69 66 3¢ V= v7 -110 78.0 28.0
174 113 2NS+1 43 150 79.0 27.0 1 11 3vS-2 4Q -100 80.0 26.0(107 103 2¢ V+1 &T -110 78.0 28.0
202 210 INS+2 &3 150 790 270| 5 7 240= vK -110 75.0 31.0(163 170 24 V= *T -110 78.0 28.0
268 267 2NN+1 &9 150 79.0 27.0|101 109 14 V+1 7 -110 75.0 31.0(266 265 2¢ V+1 w7 -110 78.0 28.0
4 6 2NN= T 120 66.0 40.0 (113 176 24 V= vK -110 75.0 31.0(271 216 3¢ V= 46 -110 78.0 28.0
13 76 INN+1 «9 120 66.0 40.0|278 209 24 O= &T -110  75.0 310f 9 3 INO+1 vQ -120 67.0 39.0
67 66 2NS= 43 120 66.0 40.0| 2 10 14 V+2 ¥K -140 400 660 72 63 INO+1 vQ -120 67.0 39.0
69 64 INS+1 #8 120 66.0 40.0| 8 4 34V= vK -140 40.0 66.0( 76 15 2NO= vQ -120 67.0 39.0
167 164 INS+1 &2 120 66.0 40.0| 9 3 34V= vK -140  40.0 66.0 (175 114 INO+1 ¥5 -120  67.0 39.0
168 163 INS+1 &3 120 66.0 40.0| 14 77 24 V+1 vK -140 40.0 66.0(178 111 2NO= vQ -120 67.0 39.0
180 104 2N S= «Q 120 66.0 40.0| 64 71 34 V= vK -140 40.0 66.0(280 204 2NO= ¢Q -120 67.0 39.0
274 217 2N S= «Q 120 66.0 40.0| 68 67 34 V= vK -140 40.0 66.0 (104 106 2¢ V+2 45 -130 60.0 46.0
280 206 INS+1 &4 120 66.0 40.0| 69 66 34 V= vK -140 40.0 66.0(173 116 34 V= v7 -140 57.0 49.0
63 70 3#S= «Q 110 51.0 55.0( 70 65 24 O+1 &T -140 40.0 66.0 (179 110 24 V+1 v4 -140 57.0 49.0
72 17 2#S+1 &3 110 51.0 55.0| 72 63 34 V= vQ -140 40.0 66.0 1 11 2NO+1 vQ -150 45.0 61.0
77 12 24 S+1 43 110 51.0 55.0( 73 18 34 V= T -140 400 660 5 7 INO+2 vQ -150 45.0 610
176 111 2v N= «A 110 51.0 55.0| 76 15 24 V+1 &K -140 40.0 66.0( 16 75 2NO+1 vQ -150 45.0 610
273 218 24 S+1 43 110 51.0 55.0| 78 13 1la V+2 K -140 400 66.0| 70 65 2NO+1 ¢Q -150 450 61.0
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279 212 24 S+1 «3 110 51.0 550 79 12 24 V+1 ¢vK -140 40.0 66.0| 79 12 2NO+1 48 -150 45.0 61.0
71 18 24 O-1 ¢Q 100 40.0 66.0( 80 6 34 V= vK -140 40.0 66.0( 80 6 2NO+1 ¢Q -150 45.0 61.0
78 11 14 O-1 &7 100 40.0 66.0 (107 103 1a V+2 ¥K -140 40.0 66.0 (167 166 2NO+1 vQ -150 45.0 61.0
178 109 INO-1 &5 100 40.0 66.0 (115 174 34 V= vK -140 40.0 66.0|169 164 2NO+1 ¢Q -150 45.0 61.0
201 211 14 O-1 v7 100 40.0 66.0 (167 166 24 O+1 &T -140  40.0 66.0 (171 118 2NO+1 ¢Q -150 45.0 61.0
272 263 INO-1 &5 100 40.0 66.0|169 164 24 V+1 w7 -140 40.0 66.0|276 211 INO+2 +Q -150 45.0 61.0
112 175 2# S= 46 90 30.0 76.0(171 118 3a4 V= vK -140 40.0 66.0 (101 109 24 V+2 &A -170 340 720
171 116 INS= a3 90 30.0 76.0 (172 117 34 V= v7 -140  40.0 66.0| 64 71 INO+3 48 -180 25.0 81.0
172 115 1¢ N+1 ¢2 90 30.0 76.0|175 114 24 V+1 vK -140 40.0 66.0| 78 13 2NO+2 48 -180 25.0 81.0
214 277 INS= a3 90 30.0 76.0(178 111 34 V= vK -140 40.0 66.0 (177 112 INO+3 ¥5 -180 25.0 81.0
278 213 2# S = & Q 90 30.0 76.0 (203 205 34 V= vK -140  40.0 66.0 (212 275 INO+3 ¢Q -180 25.0 81.0
8 2 INO= 46 -90 23.0 83.0|214 273 34 V= vK -140 40.0 66.0 (218 269 2N O+2 48 -180 25.0 81.0
75 14 INO= 46 90 23.0 83.0(266 265 24 V+1 &K -140  40.0 66.0 (270 217 INO+3 &8 -180 25.0 81.0
1 9 3&S-1 «Q -100 12.0 94.0 (271 216 3«4 V= vK -140  40.0 66.0 (272 215 INV +3 45 -180 25.0 81.0
73 16 3NS-1 43 -100 12.0 94.0|272 215 3a V= vK -140 40.0 66.0|277 210 INO+3 +Q -180 25.0 81.0
79 10 3#S-1 «Q -100 12.0 94.0(276 211 34 V= vK -140 400 66.0( 14 77 3v S-2 &9 -200  15.0 91.0
106 102 3NS-1 «Q -100 12.0 94.0 (277 210 1a V+2 K -140 40.0 66.0( 73 18 2vDS-1 ¢K -200  15.0 91.0
107 101 3NS-1 3 -100 12.0 94.0|279 208 3a V= vK -140 40.0 66.0 2 10 3NO= vQ -400 8.0 98.0
177 110 3NS-1 «Q -100 12.0 94.0 (280 204 34 V= vK -140 40.0 66.0| 74 17 3NO= vQ -400 8.0 98.0
208 204 3NS-1 «Q -100 12.0 94.0(104 106 24 V+2 @7 -170 4.0 102.0 {108 102 3NO = vQ -400 8.0 98.0
209 203 3NS-1 «3 -100 12.0 94.0|168 165 24 V+2 ¢K -170 4.0 102.0 115 174 3NO = vJ -400 8.0 98.0
276 215 34 S-1 44 -100 12.0 94.0(180 105 24 V+2 ¥K -170 4.0 102.0|168 165 3N O = vQ -400 8.0 98.0
68 65 INDO= &5 -180 2.0 104.0 (218 269 24 V+2 vK -170 4.0 102.0 (172 117 3NO+1 v6 -430 2.0 104.0
170 117 4v N-3 &A -300 0.0 106.0 |270 217 34 V+1 &T -170 4.0 102.0| 68 67 24DV = &5 -470 0.0 106.0
13 4 Kn2 Basta kontrakt 14 49763 Basta kontrakt 15 « D86 Basta kontrakt
Nord v E95 2NT N =120 Ost v Kn9 7NT O =-1520 Syd v K54 3¢ O =-110
Alla + EK52 Ingen + Kn109 NS + 84
K987 & ¢ v & NT #9872 & ¢ v & NT #106542 & ¢ v & NT
« D96 « EK1043 N8 9 6 58 a2 & EKn8 N40O0O50 4932 & K105 N7 45765
v10873 v KDKn S 89658 vEK87 vD10632 S40050 v 1092 vE763 S74575
+ 86 ¢ Kn43 054785 ¢+ E8754 ¢ KD6 O 8 13138 13 ¢ Kn63 ¢+ ED1097 O6 986 7
#Knl1063 #42 V54785 &EK3 &106 V 8 13138 13 &#EDKN3 &7 V687¢67
4875 4 KD1054 & EKn74
v 642 v54 v DKn8
+ D1097 ¢ 32 ¢+ K52
&ED5 #DKn54 #K98
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
15 78 24D O-1 45 200 106.0 0.0|108 110 24 V= *J -110 106.0 0.0 (211 207 14 S+3 #3 170 106.0 0.0
75 18 INN+2 &K 150 104.0 20| 17 76 4v O+3 &K -510 98.0 8.0 7 9 4¢ 0-3 vQ 150 104.0 2.0
2 12 INN+1 &K 120 780 28.0| 65 72 5v O+2 &K -510 98.0 8.0(180 107 INS+1 #Q 120 102.0 4.0
9 5 2NN= aA 120 780 28.0| 79 14 4v O+3 &K -510 98.0 8.0|217 201 24 S= &3 110 100.0 6.0
10 4 INS+1 «Q 120 78.0 28.0|105 113 5v V+2 &5 -510 98.0 8.0(275 266 3v O-2 47 100 98.0 8.0
70 67 2NN= vyK 120 78.0 28.0|111 107 4v O+3 &K -510 98.0 8.0|173 164 INS= vT 90 96.0 10.0
71 66 INN+1 vK 120 78.0 28.0|202 214 4v O+3 &K -510 98.0 8.0 4 12 2v O-1 8 50 80.0 26.0
77 16 INN+1 vK 120 78.0 28.0(204 212 4v O+3 &K -510 98.0 80| 10 6 3¢ O-1 8 50 80.0 26.0
102 116 2NN= vyK 120 78.0 28.0 1 13 6vO+1 &K -1010 500 56.0| 11 5 2¢0O0-1 ¢Q 50 80.0 26.0
104 114 INN+1 &K 120 78.0 28.0 2 12 6vyO+1 4K -1010 500 56.0| 16 79 3¢ O-1 vQ 50 80.0 26.0
105 113 2N N= K 120 78.0 28.0 3 11 6vO+1 4K -1010 500 56.0| 70 69 3¢ O-1 +vQ 50 80.0 26.0
111 107 INN+1 vK 120 78.0 28.0 6 8 6vO+1 4K -1010 500 56.0| 75 64 3¢ O-1 +vQ 50 80.0 26.0
112 106 INN+1 &K 120 78.0 28.0 9 5 6vy0+1 3 -1010 500 56.0| 78 17 3v O-1 4A 50 80.0 26.0
163 178 2N N = K 120 780 28.0| 10 4 6vO+1 4K -1010 500 56.0( 80 8 3¢ 0O0-1 +vQ 50 80.0 26.0
167 174 INN+1 &K 120 780 28.0| 15 78 6vy O+1 4K -1010 50.0 56.0(103 111 3¢ O-1 vQ 50 80.0 26.0
175 166 2NN = aK 120 780 28.0| 69 68 6vyV+l 4K -1010 50.0 56.0(110 104 3¢ O-1 &8 50 80.0 26.0
176 165 INN+1 &3 120 780 28.0| 70 67 6v O+l 4K -1010 50.0 56.0(169 168 2¢ O-1 %8 50 80.0 26.0
177 164 INN+1 &A 120 780 28.0| 71 66 6vy O+1 4K -1010 50.0 56.0(170 167 2¢ O-1 vQ 50 80.0 26.0
179 118 INS+1 46 120 780 28.0| 74 63 6vy O+1 4K -1010 50.0 56.0(171 166 3¢ O-1 vQ 50 80.0 26.0
201 215 INN+1 &K 120 780 28.0| 77 16 6vy O+1 &K -1010 50.0 56.0(203 215 2¢ O-1 &7 50 80.0 26.0
202 214 2NN= aA 120 780 28.0| 80 7 6vyV+l &A -1010 50.0 56.0(271 270 3¢ O-1 vQ 50 80.0 26.0
204 212 INN+1 &A 120 78.0 28.0|102 116 6v O+1 4K -1010 50.0 56.0(115 178 1¢ O= v3 -70 64.0 420
210 206 2NN = A 120 78.0 28.0(103 115 6v O+1 &K -1010 50.0 56.0 3 13 24 O= vQ -90 57.0 490
218 277 INN+1 &A 120 78.0 28.0|104 114 6v O+1 &K -1010 50.0 56.0( 18 77 2¢ O= vQ 90 57.0 490
266 273 2NN = vyK 120 78.0 28.0|112 106 6v O+1 4K -1010 50.0 56.0(165 172 2¢ O= +3 -90 57.0 49.0
275 264 INN+1 vK 120 78.0 28.0(117 101 6v O+1 ¥5 -1010 50.0 56.0(175 118 2¢ O= &7 -90 57.0 49.0
280 208 2N N = vyK 120 78.0 28.0|163 178 6v O+1 4K -1010 50.0 56.0(272 269 2¢ O= vQ 90 57.0 490
17 76 2¢ S+1 «Q 110 50.0 56.0 (167 174 6v O+1 &K -1010 50.0 56.0|277 264 2¢ O= &8 -90 57.0 49.0
65 72 3¢ S= «Q 110 50.0 56.0171 170 6y O+1 &K -1010 50.0 56.0|101 113 24 S-1 ¢J -100 48.0 58.0
69 68 3¢ S= 6 110 50.0 56.0 (172 169 6v O+1 &K -1010 50.0 56.0|174 163 24 S-1 v2 -100 48.0 58.0
1 13 24 0-1 +9 100 35.0 71.0(175 166 6v O+1 &K -1010 50.0 56.0({280 209 INS-1 &J -100  48.0 58.0
73 64 34V-1 ¢A 100 350 71.0|176 165 6y O+1 &K -1010 50.0 56.0 1 15 2v 0= &7 -110 34.0 720
74 63 24 O-1 +9 100 35.0 71.0(177 164 6v O+1 &K -1010 50.0 56.0 2 14 26 O+1 vQ -110 340 720
117 101 24 O-1 #A 100 350 71.0(179 118 6v O+1 &4 -1010 50.0 56.0| 72 67 3¢ O= vQ -110 340 720
171 170 24 O-1 +9 100 350 71.0(180 109 6v O+1 &K -1010 500 56.0| 74 65 3¢ O= v8 -110 34.0 720
173 168 24 O-1 6 100 350 71.0(201 215 6v O+1 &4 -1010 500 56.0| 76 63 3¢ O= &K -110 340 720
203 213 24 O-1 9 100 35.0 71.0(203 213 6v O+1 &K -1010 50.0 56.0|102 112 3¢ O= &8 -110 340 720
207 209 24 O-1 +9 100 35.0 71.0(207 209 6v O+1 &K -1010 50.0 56.0|179 114 3¢ O= &A -110 34.0 720
216 279 24 O-1 &5 100 35,0 71.0(210 206 6v O+1 T -1010 50.0 56.0(204 214 3¢ O= &A -110 340 720
270 269 24 O-1 &5 100 35.0 71.0(211 205 6v V+1 &K -1010 50.0 56.0(208 210 3¢ O= vQ -110 340 720
276 263 34 O-1 +7 100 350 71.0|218 277 6y O+1 &K -1010 50.0 56.0|276 265 2¢ O+1 ¥Q -110 34.0 720
278 217 24 O-1 &5 100 35,0 71.0(266 273 6v O+1 &K -1010 50.0 56.0(279 218 2v V= +8 -110 340 720
108 110 2N N-1 &A -100 20.0 86.0(270 269 6v O+1 4K -1010 50.0 56.0|106 108 INO+1 &7 -120 20.0 86.0
180 109 3NN-1 4A -100  20.0 86.0 (271 268 6v O+1 &5 -1010 50.0 56.0(117 176 2N O = a5 -120 20.0 86.0
211 205 3¢ S-1 46 -100 20.0 86.0(272 267 6v O+1 &K -1010 50.0 56.0|267 274 2NO = a7 -120  20.0 86.0
3 11 24 0= *7 -110 9.0 97.0(274 265 6vy O+1 4K -1010 500 56.0| 71 68 3¢ O+1 &7 -130  16.0 90.0
6 8 24 0= v6 -110 9.0 97.0(275 264 6v O+1 4K -1010 500 56.0|109 105 3#S-2 +¢J -200 11.0 95.0
79 14 24 O= v4 -110 9.0 97.0(276 263 6v O+1 4K -1010 50.0 56.0(177 116 INN-2 7 -200  11.0 95.0
80 7 240= *7 -110 9.0 97.0(278 217 6vy O+1 &Q -1010 50.0 56.0(202 216 24 S-2 ¢J -200  11.0 95.0
103 115 24 O = +9 -110 9.0 97.0(280 208 6NV +1 49 -1020 8.0 98.0(205 213 INN-2 &7 -200 11.0 95.0
172 169 24 O= *7 -110 9.0 970 73 64 7vO= 4Q -1510 3.0 1030 66 73 3NO= &8 -400 4.0 102.0
272 267 24 O= *7 -110 90 970| 75 18 7vO= 4K -1510 3.0 103.0(212 206 2NS-4 ¢J -400 4.0 102.0
274 265 24 O= v6 -110 9.0 97.0|173 168 7v O= 4K -1510 3.0 103.0|263 278 INS-4 &3 -400 4.0 102.0
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271 268 24DO= 3 -670 0.0 106.0 (216 279 7v O= 4K -1510 3.0 103.0 (273 268 3#DS-2 ¢2 -500 0.0 106.0
16 & K643 Basta kontrakt 17 «Kn73 Basta kontrakt 18 «E94 Basta kontrakt
Vast v KKn5 ANT V =-630 Nord v Kn64 4v O =-420 Ost v DKn9852 44 O =-130
ov 492 Ingen 410752 NS + K62
#E752 & ¢ v o NT #983 & ¢ v & NT «D & ¢ v o NT
D107 « E52 N3 4653 102 » K9854 N47 334 a2 » K10763 N16854
vE10 vD74 S34653 vD7532 vE1098 S47 334 vE103 v4 S16854
¢ EKn8 ¢+ D764 O 108 7 8 10 + 86 ¢E3 09 6 109 7 +1084 ¢ E97 O 106 4 7 8
#D10864 #K93 vV 109 7 8 10 &#EKD5 #Kn2 vV 9 6 109 7 #EKNn10985 #K762 V 106 4 7 8
« Kn98 «ED6 « DKn85
v 98632 vK v K76
+ K1053 + KDKn94 ¢ DKn53
*Kn +10764 *43
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
71 68 3¢ O-1 «J 100 1040 20| 5 13 4vy V-2 T 100 1040 20| 8 10 4vN= &K 620 106.0 0.0
180 107 2NV-1 v5 100 1040 2.0|271 266 4v V-2 +5 100 1040 20| 5 13 2¢vN+2 ¢A 170 102.0 4.0
267 274 3¢ O-1 «J 100 1040 2.0|277 216 4v V-2 +5 100 104.0 2.0(166 173 3v N+1 42 170 102.0 4.0
263 278 3v S-1 +A -50 100.0 6.0| 63 78 4v V-1 T 50 92.0 14.0|271 266 2y N+2 v4 170 102.0 4.0
106 108 2¢ O= #J 90 980 80| 67 74 4v V-1 7 50 920 140(| 2 16 2v S+1 #2 140 84.0 22.0
109 105 2v S-2 #6 -100 95.0 110 77 64 4v V-1 T 50 920 140| 12 6 3y N= #6 140 84.0 22.0
280 209 2v S-2 a7 -100 95.0 11.0(103 113 4v V-1 T 50 92.0 14.0| 67 74 3vS= 42 140 84.0 22.0
2 14 34V= ¢9 -110  89.0 17.0 (208 206 4v V-1 T 50 920 140 71 70 2v N+1 ¥4 140 84.0 22.0
4 12 3¢ O= &) -110  89.0 17.0 (210 204 4v V-1 ¢5 50 92.0 14.0(103 113 2v N+1 &6 140 84.0 22.0
170 167 2¢ O+1 &) -110 89.0 17.0(215 278 4v V-1 +5 50 92.0 14.0|104 112 3y N= #3 140 84.0 22.0
217 201 3#V=  ¥5 -110  89.0 17.0 (217 276 4y V-1 ¢7 50 92.0 14.0(171 168 3v N= #2 140 84.0 22.0
165 172 2NO = v9 -120  83.0 23.0 (273 264 4v V-1 ¢5 50 92.0 14.0|172 167 2y N+1 v4 140 84.0 22.0
276 265 2NO= v2 120 83.0 23.0( 79 18 34 S-1 &7 -50 82.0 24.0|180 108 2v N+1 +A 140 84.0 22.0
115 178 24 O +2 43 -130  78.0 28.0(111 105 3v V= ¢2 -140 78.0 28.0(202 212 3y N= &2 140 84.0 22.0
179 114 34 V+1 2 -130  78.0 28.0(166 173 3vy O= ¢5 -140 78.0 28.0(203 211 3vy N= &K 140 84.0 22.0
271 270 24 O+2 46 -130  78.0 28.0(172 167 3v V= ¢2 -140 78.0 28.0(208 206 3v N= &2 140 84.0 22.0
7 9 2NV+1l 4 -150 68.0 380 17 1 5¢S-3 #A -150 73.0 33.0(215 278 2vy N+1 &6 140 84.0 22.0
80 8 INO+2 9 -150 68.0 380 80 9 5¢S-3 #A -150 73.0 33.0(269 268 3vy N= ¢A 140 84.0 22.0
102 112 INO+2 41J -150 68.0 380| 3 15 3vO+1 K -170 650 41.0|277 216 2v N+1 &6 140 84.0 22.0
169 168 INO+2 +¢3 -150 68.0 380 71 70 3vV+1l T -170  65.0 410 17 1 2vyN= &6 110 68.0 38.0
171 166 2NV +1 44 -150 68.0 38.0(110 106 3v V+1 T -170 65.0 41.0(116 179 44 V-1 vQ 50 65.0 41.0
208 210 INV+2 44 -150 68.0 38.0(116 179 3v V+1 45 -170 65.0 41.0(275 218 54 V-1 ¢2 50 65.0 41.0
279 218 INV+2 &2 -150 68.0 38.0 (175 164 2v V+2 45 -170 65.0 41.0| 79 18 3vy N-1 &2 -100 60.0 46.0
11 5 2NV+2 K -180 51.0 55.0(274 263 2v O+2 ¢K -170 650 41.0(170 169 2v N-1 &5 -100  60.0 46.0
18 77 2NV +2 44 -180 51.0 550 2 16 4vV= &9 -420  31.0 75.0(280 207 4y N-1 &6 -100 60.0 46.0
76 63 INV+3 43 -180 51.0 55.0( 4 14 4v V= T -420 31.0 75.0(164 175 4eV= vQ -130 540 520
103 111 INV+3 3 -180 51.0 550| 8 10 4vV=  ¢5 -420 31.0 75.0(217 276 4 O= vK -130 54.0 520
110 104 INV+3 #4 -180 51.0 550 11 7 4vO= ¢K -420 310 75.0(265 272 3#O+1 ¢J -130 54.0 52.0
177 116 INO+3 2 -180 51.0 550 12 6 4v V= o7 -420 31.0 75.0(201 213 34V +2 ¢2 -150 50.0 56.0
211 207 INO+3 ¥9 -180 51.0 550 72 69 4v V= T -420 31.0 75.0(107 109 3#V+3 vQ -170 45.0 610
272 269 1INV +3 3 -180 51.0 55.0| 73 68 4v V= ¢2 -420  31.0 750118 177 3V +3 vQ -170 450 61.0
275 266 INV+3 43 -180 51.0 550 75 66 4v V= ¢T -420 31.0 75.0(274 263 4#V+2 vQ -170 45.0 610
277 264 INO+3 v2 -180 51.0 550 76 65 4v O= ¢K -420 310 75.0(279 214 44V+2 vQ -170 450 61.0
204 214 3v S-4 48 -200  40.0 66.0 (101 115 4v O= ¢K -420 310 750| 3 15 3vyDN-1 %6 -200 32.0 74.0
72 67 INV+4 43 -210 34.0 720|102 114 4vO= ¢K -420 310 750| 4 14 3v N-2 %6 -200 32.0 74.0
101 113 2NO+3 v2 -210  34.0 72.0(104 112 4vy O= ¢K -420 310 750 73 68 4v S-2 42 -200  32.0 74.0
175 118 INV +4 5 -210  34.0 72.0(107 109 4v V= T 420 31.0 750 77 64 4v S-2 a2 -200 32.0 74.0
205 213 2NV +3 4 -210  34.0 72.0(171 168 4v V= ¢5 -420 31.0 750(| 80 9 4vDN-1 %6 -200 32.0 74.0
273 268 INV+4 43 -210  34.0 72.0(174 165 4v O= ¢K -420 31.0 75.0(101 115 4vy N-2 %6 -200  32.0 74.0
78 17 INV+5 43 -240 28.0 78.0(176 163 4v V= T -420  31.0 75.0(178 117 3v N-2 &2 -200 32.0 74.0
3 13 3NO= 48 -600 19.0 87.0(178 117 4v V= ¢2 -420 31.0 75.0 (270 267 4y N-2 &2 -200 32.0 74.0
66 73 3NO= &) -600 19.0 87.0(180 108 4y V= ¢2 -420 31.0 75.0(273 264 3v N-2 &K -200 32.0 74.0
70 69 3NO= v9 -600 19.0 87.0(201 213 4v V= ¢2 -420 31.0 75.0 (110 106 4y N-3 %6 -300 22.0 84.0
75 64 3NO= v6 -600 19.0 87.0(202 212 4v V= ¢5 -420 310 750( 11 7 5#V= vQ -400 15.0 910
117 176 3NO=  v2 -600 19.0 87.0(203 211 4v V= ¢5 -420 31.0 750 63 78 5#V= a4A -400 15.0 910
174 163 3NV = &4 -600 19.0 87.0(209 205 4v V=  ¢3 -420  31.0 750|102 114 54V= vQ -400 150 91.0
202 216 3NV = &4 -600 19.0 87.0(265 272 4y V= ¢7 -420 31.0 750(176 163 5#V= vQ -400 15.0 910
212 206 BNO= ¢3 -600 19.0 87.0(269 268 4y O= ¢K -420 310 75.0(209 205 5#V= vQ -400 150 91.0
10 6 3NV+l «4 -630 8.0 98.0(270 267 4v V= ¢2 -420  31.0 750|210 204 54V= vQ -400 150 91.0
16 79 3NV +1 43 -630 8.0 98.0(275 218 4v V= ¢T -420 31.0 750 72 69 54V+1l vQ  -420 6.0 100.0
203 215 3NV +1l #4 -630 8.0 98.0(279 214 4v V= T -420 31.0 750 75 66 5#V+1 vQ -420 6.0 100.0
1 15 3NV+2 4 -660 2.0 104.0 (280 207 4y V= &7 -420  31.0 750| 76 65 S54V+1 vQ  -420 6.0 100.0
74 65 3NV +2 3 -660 2.0 104.0 (118 177 4v O+1 ¢K  -450 2.0 104.0 (111 105 54DV +1 vQ  -650 1.0 105.0
173 164 3NO+2 v2 -660 2.0 104.0 (170 169 5¢DS-3 #A  -500 0.0 106.0 (174 165 54DV +1 vQ  -650 1.0 105.0
19 « Kn98 Basta kontrakt 20 «E8 Basta kontrakt 21 «E9S Basta kontrakt
Syd v 843 6# S D -3 -500 Vast v K105 54 V =-650 Nord vE73 3¢ O =-110
oV ¢+E3 Alla + K10863 NS +D
#KKn865 & ¢ v & NT *K76 & ¢ v & NT #KKn7652 & ¢ v & NT
«KD1073 4 EG542 N9 3823 « D742 « KKn106 N3 7326 483 « DKn642 N8 4556
v KD9 v 102 S93823 vE93 v D876 S37226 v1095 v KDKn8 S 84446
4542 ¢ KD986 O 4 105 117 ¢- ¢E75 O 106 10117 ¢ EK654 ¢ Kn32 059785
*E9 3 V495 117 #DKn10532 #E8 V 106 10117 #1083 #E V59785
a- # 953 « K107
v EKn765 v Kn42 v 642
+ Kn107 ¢ DKn942 +10987
#D10742 *94 *D9%4
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
204 218 64DV -1 ¢A 200 106.0 0.0|101 167 4v O-3 +Q 300 1050 1.0|205 263 3v O-4 4 200 106.0 0.0
80 10 44 V-1 ¢A 100 1040 2.0|180 112 3NO-3 +Q 300 105.0 1.0|180 110 3v O-3 #Q 150 1040 2.0
265 201 S5# N-1 A -50 102.0 40| 64 79 4v0-2 +Q 200 99.0 7.0|113 107 3#N= vK 110 100.0 6.0
64 79 34V+l A -170 1000 6.0| 73 70 3NO-2 +Q 200 99.0 7.0(118 102 3« N= vK 110 100.0 6.0
175 172 34 V+2 ¢A -200 97.0 9.0(174 173 2NO-2 ++Q 200 99.0 7.0|275 272 3#N= vK 110 100.0 6.0
178 169 34 V+2 ¢A -200 97.0 9.0(214 208 4v O-2 +Q 200 99.0 70| 4 18 3vO-2 «Q 100 89.0 17.0
4 16 5#4DN-2 A -300 900 160| 1 63 44V-1 ¢33 100 90.0 16.0| 10 12 34 O-2 #Q 100 89.0 17.0
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164 104 54D N-2 44 -300 90.0 16.0( 18 2 44 0-1 ¢Q 100 90.0 16.0| 65 1 34 0-2 #4 100 89.0 17.0
170 177 5#DN-2 «T -300 90.0 16.0 (175 172 44 O-1 +Q 100 90.0 16.0(164 179 34 O-2 &4 100 89.0 17.0
205 217 64DN-2 ¢Q -300 90.0 16.0(269 276 3NO-1 +Q 100 90.0 16.0|174 169 24 O-2 #4 100 89.0 17.0
279 266 64D N-2 ¢K -300 90.0 16.0|275 270 44 V-1 ¢5 100 90.0 16.0 (215 209 2v O-2 #Q 100 89.0 17.0
1 63 44 V= ¢ A -620 84.0 220| 6 14 3¢ N-1 &A -100 83.0 23.0(270 277 4¢ V-2 aA 100 89.0 17.0
3 17 464 V+1 oA -650 43.0 63.0(280 211 3v N-1 &A -100 83.0 23.0(274 273 3vO-2 #Q 100 89.0 17.0
5 15 44 V+1 ¢A -650 43.0 63.0(265 201 3&V=  &A -110 80.0 26.0| 2 64 4¢ O-1 4 50 69.0 37.0
6 14 44 V+1 ¢A -650 43.0 63.0| 68 75 24V +2 ¢3 -130 740 320 5 17 34 0-1 #Q 50 69.0 37.0
9 11 54 V= ¢ A -650 43.0 63.0| 77 66 24V +2 4A -130 740 320 73 72 34 0-1 &2 50 69.0 37.0
12 8 44 V+1 <A -650 43.0 63.0(210 212 3&V+1 &A -130 740 320 74 71 2vO-1 &4 50 69.0 37.0
13 7 464 V+1 oA -650 43.0 63.0(263 203 2& V+2 &A -130 740 320 80 11 24 O0-1 #Q 50 69.0 37.0
18 2 54 V= ¢ A -650 43.0 63.0(273 272 3V +1l ¢3 -130  74.0 32.0(109 111 24 O-1 #Q 50 69.0 37.0
68 75 44 V+1 ¢A -650 43.0 63.0 (111 113 34 V= v5 -140 67.0 39.0(112 108 34 O-1 #Q 50 69.0 37.0
72 71 44 V+1 ¢A -650 43.0 63.0(213 209 3y O= +Q -140 67.0 39.0|176 167 2v O-1 #Q 50 69.0 37.0
73 70 54 V= &2 -650 43.0 630 5 15 34V+2 +8 -150 60.0 46.0 (201 267 44 O-1 &4 50 69.0 37.0
74 69 44 V+1 ¢ A -650 43.0 63.0(179 168 44V +1 &A -150 60.0 46.0(206 218 2v O-1 &Q 50 69.0 37.0
76 67 44 V+1 ¢ A -650 43.0 63.0(206 216 3&V+2 &A -150 60.0 46.0 (211 213 3¢ V-1 &) 50 69.0 37.0
77 66 56 V= ¢ A -650 43.0 63.0 (207 215 34V +2 4A -150 60.0 46.0(214 210 34 O-1 &4 50 69.0 37.0
101 167 44 V+1 ¢A -650 43.0 63.0 (274 271 3#V+2 ¢3 -150 60.0 46.0|101 163 3&# N-1 ¥K -100 54.0 52.0
103 165 44 V+1 ¢A 650 43.0 63.0| 13 7 24 V+2 ¢3 -170 51.0 55.0(172 171 34 N-1 ¥K -100 54.0 52.0
106 118 44 V+1 ¢A -650 43.0 63.0(114 110 34 V+1 &A -170 51.0 55.0(266 202 3&# N-1 vK -100 54.0 52.0
107 117 44 V+1 ¢A -650 43.0 63.0(166 102 24 V+2 &A -170 51.0 550 6 16 3¢ V= &5 -110 41.0 65.0
108 116 44 V+1 +v8 -650 43.0 63.0(279 266 34 V+1 ¢3 -170 510 550 7 15 14 O+1 #4 -110 41.0 65.0
111 113 54 V= ¢A -650 43.0 63.0| 72 71 34 V+2 ¢3 -200 450 610( 13 9 24 0= #Q -110 41.0 650
114 110 44 V+1 ¢A -650 43.0 63.0(164 104 3¢ N-2 46 -200 450 610( 69 76 2vO= #Q -110 41.0 650
115 109 44 V+1 v3 -650 43.0 63.0(103 165 24 V+4 v5 -230 40.0 66.0 (104 116 1a O+1 #4 -110 41.0 65.0
166 102 44 V+1 ¢A -650 43.0 63.0(178 169 34 O+3 ¢Q -230 400 66.0(105 115 24 O= #Q -110 410 65.0
174 173 44 V+1 ¢A -650 43.0 63.0 (277 268 24 V+4 &A -230 40.0 66.0(178 165 2v O= #Q -110 41.0 650
176 171 44 V+1 ¢A -650 43.0 63.0(176 171 4¢DN-2 #A -500 36.0 70.0(203 265 24 O= &4 -110 41.0 65.0
179 168 44 V+1 ¢A -650 43.0 63.0| 12 8 4e V= v5 -620 30.0 76.0 (207 217 2¢ V+1 &7 -110 41.0 65.0
180 112 44 V+1 v8 -650 43.0 63.0| 74 69 44 O= ¢9 -620 30.0 76.0|276 271 3¢ V= ¢+Q -110 41.0 65.0
202 264 44 V+1 <A -650 43.0 63.0 (105 163 44 V= +6 -620 30.0 76.0(280 212 3¢ V+1 ©vA -130 30.0 76.0
206 216 4e V+1 +A -650 43.0 63.0(115 109 4v O= +3 -620 30.0 760( 14 8 340= #Q -140 18.0 880
207 215 44 V+1 v8 -650 43.0 63.0 (278 267 44 V= +8 -620 300 760| 63 3 2v0O0+1 «Q -140 180 88.0
210 212 44 V+1 <A -650 43.0 63.0| 3 17 44 V+1 4A -650 16.0 90.0| 75 70 34 O= &4 -140 18.0 88.0
213 209 44 V+1 v8 -650 43.0 63.0| 4 16 44 V+1 8 -650 16.0 900 78 67 24 O+1 #Q -140 180 88.0
214 208 44 V+1 <A -650 43.0 63.0| 9 11 44 V+1 v¥5 -650 16.0 90.0| 79 66 24 O+1 ¥v6 -140 18.0 88.0
263 203 44 V+1 ¢A -650 43.0 63.0| 76 67 44 V+1 ¢8 -650 16.0 90.0 (106 114 14 O+2 #Q -140 18.0 88.0
269 276 44 V+1 &5 -650 43.0 63.0| 78 65 44 V+1 &6 -650 16.0 90.0(168 175 24 O+1 #Q -140 18.0 88.0
273 272 46 V+1 <A -650 43.0 63.0 (108 116 44 V+1 ¢3 -650 16.0 90.0 (177 166 2v O+1 &4 -140 18.0 88.0
274 271 46 V+1 oA -650 43.0 63.0(170 177 44 O+1 +Q -650 16.0 90.0|208 216 2v O+1 T -140 18.0 88.0
275 270 44 V+1 &5 -650 43.0 63.0 (204 218 44 V+1 ¥5 -650 16.0 90.0 (278 269 2v O+1 &4 -140 18.0 88.0
277 268 5e V= *A -650 43.0 63.0(205 217 44 V+1 ¢3 -650 16.0 90.0 (279 268 3v O= #Q -140 18.0 88.0
278 267 44 V+1 <A -650 43.0 63.0| 80 10 44 V+2 &A -680 3.0 103.0| 77 68 24 O+2 #Q -170 4.0 102.0
280 211 54 V= ¢ A -650 43.0 63.0(106 118 44 V+2 ¥5 -680 3.0 103.0 (103 117 24 O+2 #Q -170 4.0 102.0
78 65 44 V+2 ¢ A -680 1.0 105.0 |107 117 44 V+2 ¥5 -680 3.0 103.0 (173 170 34 O+1 &9 -170 4.0 102.0
105 163 44 V+2 ¢A -680 1.0 105.0 (202 264 44 O+2 +Q  -680 3.0 103.0 (264 204 3NDN-3 ¥vK -800 0.0 106.0
22 45 Basta kontrakt 23 «D8 Basta kontrakt 24 410953 Basta kontrakt
Ost v 1098652 5v N D -2-300 Syd v Kn109 3v V =-140 Vast v E986 3NT S =400
oV + E862 Alla + D843 Ingen ¢4
#K10 & ¢ v & NT #K1082 & ¢ v & NT #EK83 & ¢ v & NT
4109876 & EKn432 N39 9 33 4Knl073 4962 N6 84605 4 EK62 4874 N9 5878
vD4 vK7 S 38833 v87653 vEKD2 S6 8465 vD vKnl0742 S 9 58 7 9
+ K3 +D O 104 4 106 ¢E ¢ KKn6 065978 ¢+ K1096 ¢ D872 047554
&#DKn74 &E9652 V 104 4 106 «Kn75 »E63 V65978 D652 #Kn V47554
«KD » EK54 & DKn
v EKn3 va v K53
+ Kn109754 ¢ 109752 ¢ EKn53
»83 D94 »10974
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
118 102 54D0O-2 ¢J 500 106.0 0.0| 15 9 4vDO-1 45 200 106.0 00| 15 9 2NDO-5 «Q 1100 106.0 0.0
13 54 0-2 vA 200 101.0 5.0 1 67 4v0-1 «A 100 96.0 10.0 (174 171 3NN= #J 400 104.0 2.0
164 179 54 O-2 ¢J 200 101.0 50| 6 18 4vO-1 «A 100 96.0 10.0| 14 10 24 V-4 ¢4 200 102.0 4.0
168 175 54 O-2 ¢J 200 101.0 5.0(102 164 4v O-1 &A 100 96.0 100 8 16 INN+2 #J 150 97.0 9.0
214 210 54DO-1 ¢J 200 101.0 5.0(106 116 4v V-1 «Q 100 96.0 10.0 (163 103 INV-3 v9 150 97.0 9.0
2 64 54 O-1 vA 100 92.0 14.0|165 101 4v V-1 «Q 100 96.0 10.0 (177 168 2NS+1 &A 150 97.0 9.0
14 8 54 0-1 ¢J 100 92.0 14.0|174 171 2NO-1 «A 100 96.0 10.0 (273 270 3¢ V-3 #K 150 97.0 9.0
73 72 54 0-1 vA 100 92.0 14.0|175 170 4v O-1 &4A 100 96.0 10.0| 80 12 2NS= 46 120 90.0 16.0
201 267 44 O-1 ¢4 100 92.0 14.0(213 207 4v O-1 «A 100 96.0 10.0 (113 109 2NN= vJ 120 90.0 16.0
215 209 54 O-1 ¢J 100 92.0 14.0(278 265 4v O-1 &A 100 96.0 10.0 (218 202 INN+1 &7 120 90.0 16.0
109 111 5¢ S-1 4T -50 82.0 24.0| 5 63 3¢ S-1 &3 -100 85.0 21.0(206 214 2v N= &J 110 84.0 22.0
176 167 5¢ S-1 49 -50 820 240| 64 4 3¢ S-1 v¥5 -100 85.0 21.0(264 279 3&aN= 48 110 84.0 22.0
177 166 4v N-1 &A -50 82.0 24.0|178 167 2v O= 4A -110 81.0 25.0(280 210 2v S= +9 110 84.0 22.0
205 263 4¢ S-1 T -50 82.0 24.0|264 279 2y V= &2 -110 81.0 250| 5 63 2NO-2 3 100 77.0 29.0
264 204 3¢ S-1 #Q -50 82.0 24.0(|204 216 INO+1 4A 120 77.0 290 7 17 3¢ O-2 «Q 100 77.0 29.0
10 12 5¢ S-2 T -100  69.0 37.0(274 269 INO+1 4A 120 77.0 29.0| 75 72 1laV-2 ¢4 100 77.0 29.0
63 3 5¢S-2 vQ -100 69.0 370 8 16 2v O+1 4A -140 52.0 54.0(165 101 24 V-2 ¢4 100 77.0 29.0
65 1 5¢DS-1 46 -100 69.0 37.0| 11 13 2v O+1 #A -140 52.0 54.0( 74 73 1lv O-1 &7 50 63.0 43.0
69 76 5¢ S-2 AT -100 69.0 37.0( 14 10 2v O+1 4A -140 52,0 54.0| 78 69 INV-1 &3 50 63.0 43.0
172 171 4¢ S-2 4T -100 69.0 37.0( 66 2 3vO= 4A -140 52.0 54.0(169 176 INO-1 ¢3 50 63.0 43.0
203 265 5v N-2 A -100 69.0 37.0( 70 77 2v O+1 4A -140 52.0 54.0(173 172 1la V-1 &A 50 63.0 43.0
206 218 5¢ S-2 T -100 69.0 37.0| 75 72 2v O+1 &A -140 52.0 54.0(175 170 24 V-1 ¢4 50 63.0 43.0
278 269 5¢ S-2 T -100 69.0 37.0| 78 69 3v V= +3 -140 52.0 54.0(179 166 3¢ V-1 &A 50 63.0 43.0
208 216 5¢ S-3 T -150 60.0 46.0| 80 12 2v O+1 #A -140 52.0 54.0(204 216 2¢ V-1 ¢4 50 63.0 43.0
74 71 34 O+1 ¢J -170 52.0 54.0 (104 118 2v O+1 4A -140 52.0 54.0(209 211 2¢ V-1 &A 50 63.0 43.0
75 70 24 O+2 ¢J -170  52.0 54.0(110 112 3v O= 4A -140 52.0 54.0(268 275 1la V-1 ¢4 50 63.0 43.0
104 116 34 O+1 ¢J -170 52.0 54.0(113 109 2v O+1 K -140 52.0 54.0(272 271 3¢ V-1 &A 50 63.0 43.0
113 107 34 O+1 &8 -170 52.0 54.0 (114 108 2v O+1 ¢9 -140 52.0 540| 64 4 2vS-1 &2 -50 47.0 59.0
174 169 34 O+1 ¢J -170  52.0 54.0(169 176 3v O= 4A -140 520 540| 66 2 3NS-1 ¢Q -50 47.0 59.0
266 202 24 O+2 ¢J -170  52.0 54.0(179 166 3v O= &A -140 52.0 54.0(102 164 4« N-1 7 -50 47.0 59.0
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270 277 34 O+1 &K -170 52.0 54.0(206 214 3v O= &A -140 52.0 54.0(178 167 2y N-1 &8 -50 47.0 59.0
275 272 24 O+3 +¢J -200 440 62.0(209 211 2v O+1 &K -140 52.0 54.0(274 269 2y N-1 &J -50 47.0 59.0
4 18 5¢DS-2 T -300 38.0 68.0(212 208 2v O+1 v4 -140 52.0 54.0(277 266 3NS-1 4A -50 47.0 59.0
6 16 5¢DS-2 &7 -300 38.0 68.0(218 202 3v O= &A -140 520 54.0( 76 71 1la V= &A -80 38.0 68.0
78 67 5¢DS-2 49 -300 38.0 68.0(268 275 2v O+1 4A -140 52.0 54.0(212 208 1s V= *4 -80 38.0 68.0
80 11 5¢DS-2 o7 -300 38.0 68.0(272 271 2v O+1 4A -140 52.0 54.0|213 207 1a V= &A -80 38.0 68.0
112 108 5vDN-2 &A -300 38.0 68.0(273 270 2v O+1 &K -140 52.0 54.0 3 65 1¢ V+1 &A 90 320 74.0
5 17 5¢DS-3 T -500 29.0 77.0(276 267 2v O+1 T -140 52.0 54.0(105 117 1le¢ V+1 &K 90 320 74.0
77 68 5¢DS-3 #Q -500 29.0 77.0(277 266 2v O+1 4A -140 52.0 54.0(106 116 2¢ V= &K -90 32.0 74.0
105 115 5¢DN-3 #3 500 29.0 77.0| 74 73 2v O+2 &A -170 21.0 85.0 1 67 3y N-2 &J -100  26.0 80.0
279 268 5¢DS-3 #Q 500 29.0 77.0( 76 71 2v O+2 4A -170  21.0 85.0(110 112 2vy N-2 &J -100  26.0 80.0
7 15 44 O= *J -620 18.0 88.0 (105 117 2v O+2 T -170  21.0 85.0(203 217 3NS-2 &K -100  26.0 80.0
103 117 44 O = *J -620 18.0 88.0(107 115 2vy O+2 &A -170 21.0 85.0 6 18 2¢ V+1 &A -110 150 91.0
106 114 44 O = *J -620 18.0 88.0 (177 168 2v V+2 vJ -170  21.0 85.0( 79 68 3¢ V= &A -110 15.0 91.0
178 165 44 O = *J -620 18.0 88.0(180 111 2v O+2 T -170  21.0 85.0|104 118 1¢ V+2 &A -110 15.0 91.0
180 110 44 O = *J -620 18.0 88.0 (203 217 2y O+2 2 -170  21.0 85.0(107 115 2¢ V+1 &A -110 150 91.0
211 213 44 O = *J -620 18.0 88.0(205 215 2y O+2 &K -170  21.0 85.0(180 111 2« V= *4 -110 15.0 91.0
274 273 44 O = *J -620 18.0 88.0(163 103 3v V+2 ¢Q 200 12.0 94.0|201 263 3¢ V= *4 -110 150 91.0
79 66 44 O+1 ¢J -650 5.0 101.0 (280 210 4¢DS-2 ¥8 -500  10.0 96.0 (205 215 1¢ V+2 &K -110 150 91.0
101 163 44 O+1 ¢J -650 5.0 101.0 3 65 4v 0= 4A -620 4.0 102.0 (278 265 1a V+1 +A -110 15.0 91.0
173 170 54 O = vA -650 5.0 101.0 7 17 4v O= 4A -620 4.0 102.0| 11 13 4v N-3 48 -150 4.0 102.0
207 217 44 O+1 ¢J -650 50 101.0| 79 68 4vy O= &A -620 4.0 102.0 (114 108 3v N-3 48 -150 4.0 102.0
276 271 54 O = *J -650 5.0 101.0 (173 172 4y V= *4 -620 4.0 102.0 (276 267 3v N-3 &J -150 4.0 102.0
280 212 54 O = *J -650 5.0 101.0|201 263 4y O= &A -620 4.0 102.0| 70 77 44 S-4 &aA -200 0.0 106.0
25 4 E853 Basta kontrakt 26 4 K42 Basta kontrakt 27 4 K72 Basta kontrakt
Nord v9 5NT O =-660 Ost v 843 34 O =-140 Syd v Kn8632 2NTV =-120
oV + 10984 Alla + Kn109 Ingen +108
#9873 & ¢ v & NT #Knl1074 & ¢ v & NT &EKN7 & ¢ v & NT
« D6 4KKn1092 N 3 3 4 2 2 D85 4Knl0763 N6 6 545 #53 «E1064 N4 4565
vE10743 vK6 S33422 v 102 v EKn965 S6 6545 vE5 vKD74 S44565
+D3 ¢ EK62 O 9 109 1011 +D843 ¢K5 O6 7 897 ¢ K7643 ¢ Kn5 088878
&#DKn65 #K2 V 9 109 1011 #EKD3 &9 V673897 #K1093 D85 V 8 887 8
a74 & E9 & DKn98
v DKn852 v KD7 v109
¢ Kn75 ¢ E762 + ED92
#E104 #8652 *642
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
268 204 5v V-2 &A 200 106.0 0.0 7 63 2NV-3 ¢J 300 104.0 20| 78 73 3NO-3 48 150 98.0 8.0
77 72 44 O-1 vQ 100 103.0 3.0(104 170 4v O-3 #A 300 104.0 2.0)116 110 3v O-3 v9 150 98.0 8.0
277 274 44 O-1 vQ 100 103.0 3.0|217 211 3NV-3 &T 300 104.0 2.01167 103 3NO-3 48 150 98.0 8.0
15 11 34 O+2 +¢5 -200 100.0 6.0| 12 14 44 O-2 #8 200 94.0 12.0(177 172 34 O-3 T 150 98.0 8.0
111 163 3NO= &4 -600 97.0 9.0| 15 11 3NV-2 «T 200 940 12.0(179 170 2NV-3 v2 150 98.0 8.0
173 101 3NV = &9 -600 97.0 9.0| 80 13 2NV-2 ¢J 200 940 12.0(208 266 3NO-3 ¢2 150 98.0 8.0
118 112 44 O = vJ -620 93.0 13.0(106 168 3NV-2 &7 200 94.0 12.0(214 216 2NV-3 42 150 98.0 8.0
278 273 44 O= @4 -620 93.0 13.0|114 116 3NV-2 &T 200 940 12.0(217 213 3NO-3 &6 150 98.0 8.0
9 17 3NO+1 a7 -630 88.0 18.0(118 112 3NV-2 +¢J 200 94.0 12.0(267 207 3NV-3 ¢2 150 98.0 8.0
79 70 3NV +1 +4 -630 88.0 18.0(216 212 4v O-2 4A 200 940 12.0 5 67 2NV-2 &7 100 78.0 28.0
178 175 3NV +1 &9 -630 88.0 18.0( 16 10 44 O-1 #8 100 80.0 260 17 11 3#V-2 v5 100 78.0 28.0
65 5 44 O+1 a7 -650 82.0 24.0(103 171 44 V-1 ¢J 100 80.0 260 68 4 2NO-2 48 100 78.0 28.0
117 113 44 O+1 &A -650 82.0 24.0(109 165 2¢ O-1 #9 100 80.0 26.0 (106 164 2NV-2 v6 100 78.0 28.0
203 269 44 O+1 &A -650 82.0 24.0(169 105 44 O-1 &8 100 80.0 26.0 (107 163 2NO-2 48 100 78.0 28.0
1 69 3NV+2 T -660 40.0 66.0 (208 264 44 O-1 «A 100 80.0 26.0(171 178 2v V-2 v2 100 78.0 28.0
2 68 3NV+2 v9 -660 40.0 66.0 (209 263 44 V-1 «A 100 80.0 26.0(175 174 3NO-2 T 100 78.0 28.0
4 66 3NO+2 ¥5 -660 40.0 66.0210 218 44 V-1 &J 100 80.0 26.0(202 272 2NO-2 48 100 78.0 28.0
6 64 3NV+2 «9 -660 40.0 66.0 (203 269 1&S+1 T 90 72.0 34.0|204 270 3NO-2 «Q 100 78.0 28.0
7 63 3NV+2 ¢9 -660 40.0 66.0( 71 78 1l¢ S-1 &A -100  69.0 37.0(279 274 2NO-2 T 100 78.0 28.0
8 18 3NO+2 &4 -660 40.0 66.0|178 175 1¢ N-1 &9 -100 69.0 37.0(280 215 2NO-2 &J 100 78.0 28.0
12 14 3NV +2 «9 -660 40.0 66.0| 75 74 24 V= *J -110 59.0 47.0 1 71 2NO-1 «Q 50 57.0 49.0
16 10 3NV +2 T -660 40.0 66.0| 77 72 1lv O+l +A -110 59.0 47.0 2 70 2NO-1 48 50 57.0 49.0
67 3 3INO+2 #7 -660 40.0 66.0 (177 176 2v O= &5 -110 59.0 47.0 8 64 3NO-1 «Q 50 57.0 49.0
71 78 3NV +2 &9 -660 40.0 66.0 (201 271 2v O= 8 -110 59.0 47.0( 76 75 2NV-1 v6 50 57.0 49.0
75 74 3NV +2 &9 -660 40.0 66.0|207 265 2v O = ¢A -110 59.0 47.0| 77 74 INV-1 +3 50 57.0 49.0
76 73 3NV +2 T -660 40.0 66.0 (213 215 2v O= 4A -110  59.0 47.0( 80 14 INO-1 «Q 50 57.0 49.0
80 13 3NO+2 7 -660 40.0 66.0 (266 206 2v O = *7 -110  59.0 47.0(109 117 INO-1 48 50 57.0 49.0
102 172 3NV +2 &9 -660 40.0 66.0 (276 275 24 V= &J -110  59.0 47.0(209 265 3NO-1 +¢2 50 57.0 49.0
103 171 3NV +2 T -660 40.0 66.0 1 69 34 0= *2 -140 350 710|218 212 INV-1 #3 50 57.0 49.0
104 170 3ANO+2 ¥5 -660 40.0 66.0 4 66 14 O+2 &2 -140 35.0 71.0(273 201 2NV-1 #2 50 57.0 49.0
106 168 3NV +2 &9 -660 40.0 66.0 8 18 3vO= &A -140 35.0 71.0(115 111 14 S-1 ¢2 -50 46.0 60.0
108 166 3NV +2 ¢9 -660 40.0 660 65 5 34 O= &5 -140 350 710 16 12 2¢ V= &A -90 41.0 65.0
109 165 3NV +2 &9 -660 40.0 66.0( 67 3 34 O0O= &8 -140 350 710|112 114 2¢ V= a3 90 410 65.0
110 164 3NO+2 v5 -660 40.0 66.0| 76 73 34 V= *J -140 35.0 71.0(176 173 INO= *2 -90 41.0 65.0
114 116 3NV +2 9 -660 40.0 66.0|102 172 24 O+1 &8 -140 35.0 71.0(269 205 1INV = v2 -90 410 65.0
167 107 3NO+2 5 -660 40.0 66.0 (108 166 3« V= *J -140 35.0 71.0(180 113 2vy N-2 ¢J -100  36.0 70.0
169 105 3NV +2 &9 -660 40.0 66.0 (110 164 34 V= *J -140 350 710 66 6 2¢ V+1 ¢8 -110 30.0 76.0
177 176 3NO+2 +5 -660 40.0 66.0 (111 163 24 O+1 ¢¥K -140 350 710 72 79 3¢ V= &K -110 30.0 76.0
179 174 3NV +2 T -660 40.0 66.0 (117 113 14 O+2 &7 -140 35.0 71.0(101 169 24 O+1 2 -110 30.0 76.0
180 115 3NO+2 45 -660 40.0 66.0 (173 101 24 O+1 &8 -140 35.0 71.0(108 118 34 O= vT -110 30.0 76.0
201 271 3NO+2 #4 -660 40.0 66.0|202 270 24 O+1 &A -140  35.0 71.0(203 271 2¢ V+1 ¥2 -110 30.0 76.0
202 270 3NV +2 T -660 40.0 66.0 (268 204 24 O+1 %8 -140 350 71.0 3 69 2NO= «Q -120 150 91.0
205 267 3NV +2 ¢9 -660 40.0 66.0 (277 274 24 O+1 vK -140 350 71.0 9 63 2NO= ’Y:] -120  15.0 91.0
207 265 3INO+2 v2 -660 40.0 66.0 (280 214 24 V+1 ¢J -140 350 71.0( 10 18 INO+1 4Q -120  15.0 91.0
208 264 3NV +2 v9 -660 40.0 66.0 (205 267 2NV +1 v4 -150 18.0 88.0| 13 15 2NO= «Q -120 150 91.0
209 263 3NO+2 +8 -660 40.0 66.0( 79 70 24 O+2 @7 -170  15.0 91.0|102 168 2N O = ’Y:] -120  15.0 91.0
210 218 3NV +2 &9 -660 40.0 66.0|278 273 34 O+1 2 -170  15.0 91.0 (104 166 INO+1 48 -120 150 91.0
213 215 3NV +2 T -660 40.0 66.0 (179 174 24D S-1 %A -200  12.0 94.0|165 105 2N O = vT -120 150 91.0
216 212 3NV +2 #9 -660 40.0 66.0 2 68 INDS-2 #A -500 10.0 96.0 (210 264 2NO= LY:] -120  15.0 91.0
217 211 3NV +2 49 -660 40.0 66.0 (167 107 3NV = *J -600 8.0 98.0(211 263 INV+1 T -120  15.0 91.0
266 206 3NO +2 &4 -660 40.0 66.0 6 64 44 V= *J -620 3.0 103.0 (278 275 1INV +1 &7 -120 150 91.0
272 279 3NV +2 49 -660 40.0 66.0 9 17 4e V= *J -620 3.0 103.0 (206 268 2y O+1 2 -140 4.0 102.0
280 214 3NV +2 T -660 40.0 66.0 (180 115 44 V= *J -620 3.0 103.0 7 65 2NO+1 «8 -150 2.0 104.0
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276 275 3NO+3 v2 -690 0.0 106.0 (272 279 44 O= &8 -620 3.0 103.0 (277 276 2¢DV = T -180 0.0 106.0
28 « E1094 Basta kontrakt 29 «E743 Basta kontrakt 30 « D974 Basta kontrakt
Vast v E10652 44 V =-420 Nord v D84 44 N =620 Ost v 764 44 S =420
NS + K Alla + KD764 Ingen + ED7
#DKn9 & ¢ v & NT *5 & ¢ v & NT #1096 & ¢ v & NT
4 D8 4« KKn753 N456 34 410 &« D65 N7 6 5 108 & Kn65 483 N 8 8 5 109
v KD9 v Kn7 S456 3 4 vEK1062 v753 S 7 6 6 108 vKn10983 v EKD S 88 5 109
¢ E107654 ¢2 09 8 7 108 ¢ EKn1082 ¢ 95 O56 7 3 4 +6 ¢Kn98532 0O 457 3 4
#65 &#EK874 V 9 8 7 108 K9 &#Kn10643 V 5 6 7 3 4 D742 #Kn8 V 45734
462 & KKn982  EK102
v 843 v Kn9 v52
+ DKn983 +3 + K104
#1032 #ED872 #EK53
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 71 3¢V-2 vA 100 93.0 13.0| 18 12 5vDV-4 «5 1100 106.0 0.0 6 68 3NS+1 vJ 430 105.0 1.0
3 69 3¢V-2 &Q 100 93.0 13.0|172 179 44 S+1 vA 650 103.0 3.0(177 174 3NS+1 vJ 430 105.0 1.0
7 65 3NV-2 2 100 93.0 13.0|178 173 44 S+1 vA 650 103.0 3.0 8 66 44 N= vA 420 85.0 21.0
9 63 3NV-2 44 100 93.0 13.0 8 66 44 S= vA 620 88.0 18.0 9 65 44 N= vA 420 85.0 21.0
16 12 3NV-2 v5 100 93.0 13.0 9 65 44 S= vA 620 88.0 180 17 13 44 N= #J 420 85.0 21.0
66 6 3¢ V-2 vA 100 93.0 13.0| 11 63 44 S= vA 620 88.0 180 67 7 44 S= ¢6 420 85.0 21.0
80 14 3NO-2 8 100 93.0 13.0| 67 7 44 S= vA 620 88.0 18.0| 78 75 44 S= ¢+6 420 85.0 21.0
101 169 3NV-2 2 100 93.0 13.0 (105 167 44 S= vA 620 88.0 18.0| 80 15 44 N= vK 420 85.0 21.0
109 117 3NV-2 ¢5 100 93.0 13.0(116 112 44 S= vA 620 88.0 18.0 (105 167 44 N= vA 420 85.0 21.0
112 114 44 0-2 +Q 100 93.0 13.0(117 111 44 S= vK 620 88.0 18.0|109 163 44 N= vA 420 85.0 21.0
176 173 3NV-2 49 100 93.0 13.0(166 106 44 S= vK 620 88.0 18.0(172 179 44 N= vA 420 85.0 21.0
204 270 3¢ V-2 «A 100 93.0 13.0(180 114 44 S= vK 620 88.0 18.0 (201 269 44 S= ¢6 420 85.0 21.0
208 266 44 O-2 ¥8 100 93.0 13.0|208 218 44 S= vA 620 88.0 18.0|204 266 44 S= ¢+6 420 85.0 21.0
218 212 4¢ V-2 #Q 100 93.0 13.0(215 211 44 S= vA 620 88.0 18.0 (216 210 44 S= ¢6 420 85.0 21.0
5 67 3NO-1 v8 50 59.0 47.0 (267 203 44 S= vA 620 88.0 18.0 (265 205 44 S= ¢6 420 85.0 21.0
13 15 3NV-1 2 50 59.0 47.0(276 273 44 S= vK 620 88.0 18.0(267 203 44 S= ¢+6 420 85.0 21.0
68 4 44 O-1 v3 50 59.0 47.0(206 264 4vDO-2 +3 500 74.0 32.0|275 274 44 S= ¢6 420 85.0 21.0
72 79 3NV-1 2 50 59.0 47.0|102 170 34 S+2 vK 200 72.0 34.0|277 272 44 S= ¢6 420 85.0 21.0
77 74 3NV-1 v5 50 59.0 47.0 6 68 34 S+1 vA 170 66.0 40.0 (279 270 44 N= vA 420 85.0 21.0
78 73 44 V-1 ¢K 50 59.0 470| 77 76 34 S+1 vA 170 66.0 40.0|280 213 44 S= ¢6 420 85.0 21.0
106 164 3NV-1 v6 50 59.0 47.0|201 269 34 S+1 vA 170 66.0 40.0 2 72 3NN= vQ 400 61.0 45.0
107 163 3NV-1 &4 50 59.0 47.0(212 214 34 S+1 vA 170 66.0 40.0( 18 12 3NN= +5 400 61.0 45.0
108 118 3¢ V-1 &2 50 59.0 47.0|279 270 34 S+1 vA 170 66.0 40.0| 73 1 3NN= vA 400 61.0 45.0
115 111 44 O-1 2 50 59.0 470 4 70 34 S= vA 140 54.0 52.0(108 164 3NS= ¢6 400 61.0 45.0
175 174 3¢ V-1 #Q 50 590 470| 73 1 34 S= vA 140 54.0 52.0|209 217 3NS= ¢+6 400 61.0 45.0
177 172 3¢ V-1 #Q 50 50.0 470 78 75 34 S= vA 140 54.0 52.0(276 273 3NS= vJ 400 61.0 45.0
179 170 44 O-1 ¥3 50 59.0 47.0|103 169 24 S+1 vA 140 54.0 52.0(176 175 34 N+2 vA 200 54.0 52.0
180 113 34 O-1 +v8 50 59.0 47.0|176 175 34 S= vA 140 540 520 77 76 2NS+2 vJ 180 50.0 56.0
202 272 3NV-1 v2 50 59.0 47.0 (202 268 34 S= vA 140 54,0 52.0(110 118 INS+3 ¥J 180 50.0 56.0
210 264 3NV-1 v2 50 59.0 47.0(280 213 34 S= vA 140 54.0 52.0(168 104 INS+3 ¥3 180 50.0 56.0
214 216 2¢ V-1 #Q 50 59.0 47.0(110 118 4v V-1 &A 100 46.0 600| 4 70 34S+1 +6 170 34.0 72.0
269 205 3NV-1 v2 50 59.0 47.0 2 72 44 S-1 aA -100 270 79.0| 10 64 34 N+1 A 170 340 720
278 275 2¢ V-1 v6 50 59.0 470 3 71 44 S-1 ©vA -100 27.0 79.0| 11 63 34 N+1 A 170 34.0 72.0
280 215 3NV-1 ¥5 50 59.0 47.0| 14 16 44 S-1 ©vA -100 270 79.0| 69 5 34S+1 46 170 34.0 720
2 70 24 0+1 v8 -110 38.0 68.0| 17 13 44 S-1 +A -100 27.0 790 79 74 34 N+1 vK 170 340 720
171 178 34 O +1 ¥3 -130 36.0 70.0| 69 5 44 S-1 ¢K -100 27.0 79.0(101 171 34 N+1 ¢Q 170 34.0 72.0
10 18 34 0= ¢Q -140 280 780| 79 74 44 S-1 ©vA -100 27.0 79.0|103 169 24 N+2 <A 170 34.0 720
17 11 34 O= v8 -140 28.0 780| 80 15 24 S-1 ¢K -100 27.0 79.0|107 165 34 N+1 A 170 340 720
102 168 34 O= v8 -140 28.0 78.0(107 165 44 S-1 YA -100 27.0 79.0|117 111 24 S+2 +6 170 34.0 72.0
116 110 34 O= v3 -140 28.0 78.0|113 115 44 S-1 ¥vA -100 27.0 79.0|178 173 34 N+1 A 170 34.0 720
167 103 34 O= +8 -140 28.0 78.0(168 104 44 S-1 YA -100 27.0 79.0|202 268 34 S+1 46 170 340 720
209 265 24 O+1 ¥3 -140 28.0 78.0(177 174 44 S-1 YA -100  27.0 79.0(207 263 24 S+2 6 170 34.0 72.0
273 201 14 O+2 3 -140 28.0 78.0|207 263 44 S-1 YA -100 27.0 79.0(215 211 24 S+2 vA 170 340 72.0
8 64 34 O+1 ¢3 -170  18.0 88.0 (209 217 44 N-1 w7 -100 27.0 79.0 3 71 INS+2 vJ 150 11.0 95.0
76 75 24 V+2 YA -170 18.0 88.0(216 210 34 S-1 YA -100 27.0 79.0| 14 16 INS+2 ¢J 150 11.0 95.0
203 271 34 O+1 ¥3 -170 18.0 88.0|265 205 44 S-1 ¢K -100 27.0 79.0|102 170 2NS+1 *J 150 11.0 95.0
217 213 2¢DV= &J -180 14.0 92.0(271 278 44 S-1 YA -100 27.0 79.0(116 112 2NS+1 vJ 150 11.0 95.0
165 105 24 O+3 ¢3 -200  10.0 96.0 (275 274 44 S-1 YA -100 27.0 79.0[(166 106 INS+2 ¢J 150 11.0 95.0
206 268 24 O+3 ¥8 -200  10.0 96.0|277 272 44 S-1 YA -100 27.0 79.0(180 114 INS+2 T 150 11.0 95.0
267 207 34 O+2 v8 200 10.0 96.0| 10 64 54 S-2 YA -200 5.0 101.0|206 264 INS+2 *8 150 11.0 95.0
279 274 3NO= oT -400 6.0 100.0 (108 164 44 S-2 YA -200 5.0 101.0|208 218 INS+2 *J 150 11.0 95.0
104 166 44 O= 8 -420 4.0 102.0 (109 163 44 S-2 vA -200 5.0 101.0 (212 214 INS+2 +J 150 11.0 95.0
277 276 44DO= ¥3 -590 2.0 104.0 (204 266 44 S-2 YA -200 5.0 101.0|271 278 INS+2 46 150 11.0 95.0
211 263 2vyDN-3 #A -800 0.0 106.0 (101 171 2NS-3 YA -300 0.0 106.0 ({113 115 2#S-1 46 -50 0.0 106.0
31 « ED764 Bésta kontrakt 32 « EK1098 Bésta kontrakt 33 & K10643 Bésta kontrakt
Syd v EKn92 ANT N =630 Vast v54 ANT V =-630 Nord v 94 34 ND-1-100
NS + Kn8 ov + Kn73 Ingen + EK108
*76 & ¢ v & NT «D72 & ¢ v & NT *E8 & ¢ v & NT
53 » K1082 N8 6 9 9 10 aD4 # Kn532 N3 3553 52 « ED98 N9 9 484
vD10873 v- S86 989 v 962 vE103 S33553 vKDKn8532 vE76 S99 484
+ E653 ¢+ D972 O57 443 + EK108 ¢ D92 O 9 107 8 10| 6 ¢ D52 033956
#93 #E8542 V57443 #KKn106 #E54 V 9 107 8 10 | #632 #D95 V33956
& Kn9 476 & Kn7
v K654 v KDKn87 v10
+ K104 4654 + Kn9743
#KDKn10 #983 #KKn1074
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
4 72 3NS+1 ¥8 630 1040 20| 4 72 3NO-2 K 200 1050 10| 63 15 6NDO-3 «J 500 106.0 0.0
5 71 3NS+1 43 630 1040 20| 79 76 3¢ V-2 &A 200 105.0 1.0(174 102 3¢ N+1 #5 130 1040 2.0
80 16 3NN+1 7 630 1040 2.0 7 69 3NO-1 ¢K 100 98.0 8.0 2 76 24 N= vA 110 101.0 5.0
74 2 4v S= 45 620 100.0 6.0|172 108 3¢ V-1 ¥4 100 98.0 8.0(103 173 2¢ N+1 #5 110 101.0 5.0
10 66 3NS= v7 600 95.0 11.0(201 277 3NV-1 ¥4 100 98.0 80| 12 66 4vDV-1 ¢K 100 95.0 11.0
105 175 3NS= v3 600 95.0 11.0(206 272 3NO-1 &7 100 98.0 8.0(115 117 4vDO-1 ¢+A 100 95.0 11.0
208 270 3NS= +3 600 95.0 11.0|208 270 3¢ V-1 &K 100 98.0 8.0(214 266 4vDV-1 ¢A 100 95.0 11.0
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216 218 3NS=  ¢5 600 95.0 11.0f 9 67 Pass 92.0 14.0(217 263 4v V-2 ¢K 100 95.0 11.0
7 69 2NS+1 ¢3 150 89.0 17.0( 12 64 INS-1 v9 -50 88.0 180| 4 74 4vV-1 ¢K 50 75.0 31.0
211 267 INS+2 ¥3 150 89.0 17.0( 18 14 2vS-1 v6 -50 88.0 18.0| 16 18 4v V-1 ¢A 50 75.0 31.0
103 177 2NS= 5 120 86.0 20.0(205 273 2v S-1 +¢K -50 88.0 18.0| 64 14 4v V-1 ¢A 50 75.0 31.0
271 207 2v N= ¢5 110 840 220 68 8 INO= vK 90 820 240| 71 7 4vO-1 4] 50 75.0 31.0
11 65 INS= ¢5 90 820 240 74 2 24V=  aA -90 82.0 24.0| 80 17 4v O-1 7 50 75.0 31.0
9 67 4vS-1 A -100 580 48.0(271 207 INV=  vK -90 82.0 24.0|105 171 4v V-1 #A 50 75.0 31.0
12 64 4vS-1 +A -100 580 480 1 75 24 N-2 46 -100  76.0 30.0|107 169 4v V-1 #A 50 75.0 31.0
15 17 4v S-1 45 -100 580 480(112 168 24 N-2 #A  -100 76.0 30.0|111 165 4v V-1 ¢A 50 75.0 31.0
63 13 4v N-1 #A -100 58.0 48.0|279 278 24 N-2 +2 -100  76.0 30.0(112 164 4v O-1 4 50 75.0 31.0
68 8 4vy N-1 o7 -100 580 480| 5 71 INV+1 5 -120  67.0 39.0|168 108 4v V-1 ¢A 50 75.0 31.0
78 77 4v S-1 45 -100 580 480 63 13 2NO= &7 -120 67.0 39.0 (178 177 4v O-1 4J 50 75.0 31.0
101 179 4y N-1 ¢2 -100 58.0 48.0|102 178 INO+1 47 -120  67.0 39.0(180 116 4v V-1 +A 50 75.0 31.0
106 174 4v S-1 +A  -100 58.0 48.0(202 276 2NO=  vJ -120  67.0 39.0|203 277 4v V-1 #A 50 75.0 31.0
107 173 4v S-1 +¢A -100 58.0 48.0(204 274 INO+1 vK -120 67.0 39.0|211 269 4v V-1 ¢A 50 75.0 31.0
111 169 4v S-1  #9 -100 58.0 48.0(216 218 INV+l1 &A -120 67.0 39.0|213 267 4v O-1 4J 50 75.0 31.0
112 168 44 N-1 +5 -100 58.0 48.0| 10 66 3#V+l 4K -130 59.0 47.0(|264 216 4vV-1 +A 50 75.0 31.0
117 163 4y N-1 +5 -100 58.0 48.0(180 118 3¢ V+1 4A -130 59.0 47.0|110 166 5¢ N-1 vA -50 58.0 48.0
164 116 4y N-1 ¢7 -100 58.0 48.0| 80 16 INO+2 vK -150 49.0 570| 6 72 5¢ N-2 vA -100 520 54.0
170 110 4¥ N-1 A  -100 58.0 48.0(101 179 2NV +1 &2 -150 49.0 57.0| 69 9 44DN-1 v6 -100  52.0 54.0
176 104 4y N-1 ¢2 -100 580 48.0(170 110 INO+2 ¥K -150 49.0 57.0|170 106 5¢DN-1 vA  -100 52.0 54.0
204 274 4v S-1 45 -100 58.0 48.0(176 104 1INV +2 8 -150 49.0 57.0|205 275 5¢DN-1 vA -100 52.0 54.0
205 273 4v S-1 7 -100 58.0 48.0(210 268 INO+2 ¥K -150 49.0 57.0|280 218 5¢DN-1 vA -100 52.0 54.0
206 272 4v N-1  ¢9 -100 58.0 48.0(211 267 INO+2 vK -150 49.0 57.0|202 278 2v V= ¢A -110 46.0 60.0
212 266 4v N-1 #A  -100 58.0 48.0(212 266 INO+2 ¢K -150 49.0 570 1 77 3vV= #A -140 36.0 70.0
263 215 4v S-1 ¢A -100 58.0 48.0(213 265 2NO+1 vK -150 49.0 57.0f 5 73 3vO= 4] -140 36.0 70.0
264 214 4v S-1 45 -100 58.0 48.0(105 175 2NO+2 a7 -180 330 73.0| 8 70 3vV= ¢A -140 36.0 700
269 209 4v S-1 45 -100 58.0 48.0|107 173 2NV+2 4A -180 330 730| 75 3 2vV+l #A -140 36.0 70.0
275 203 4y N-1 o7 -100 58.0 48.0(109 171 2NO+2 )] -180 330 73.0| 79 78 3vV= #A -140 36.0 70.0
1 75 4v N-2 &2 -200 240 820(113 167 INO+3 vQ -180 33.0 73.0|118 114 3vV= ¢A -140 36.0 70.0
18 14 4vS-2 +A -200 240 82.0(164 116 INO+3 &7 -180 330 73.0(201 279 2v V+l K -140 36.0 70.0
70 6 4v S-2 45 -200 240 820|165 115 INO+3 vK -180 33.0 73.0|209 271 3vV= #A -140 36.0 70.0
79 76 4v S-2 45 -200 240 820(264 214 INO+3 vK -180 33.0 73.0|276 204 3vV= #A -140 36.0 70.0
109 171 4y N-2 7 -200  24.0 82.0|275 203 INV+3 48 -180 330 73.0(163 113 3v V+1 +A -170 240 820
113 167 4v S-2 9 -200 240 820 78 77 INV+4 a9 -210 240 82.0(179 176 2y V+2 a7 -170 240 82.0
114 166 4v S-2 45 -200 24.0 82.0|111 169 24DN-2 ¢2 -300 21.0 85.0(207 273 3v V+1 48 -170 240 820
165 115 4v S-2 45 -200 24.0 82.0|263 215 24DN-2 #A  -300 21.0 850|109 167 44aDN-2 vA -300 19.0 87.0
172 108 4v N-2 #A -200 240 82.0(117 163 3vyDS-3 ¢+A -500 18.0 88.0(270 210 44DN-2 vA -300 19.0 87.0
213 265 3NS-2 +¢3 200 240 820| 3 73 3NO= K -600 14.0 92.0|212 268 3NO= 4] -400 16.0 90.0
279 278 4v S-2 ¢A 200 240 820| 15 17 3NO= ¢K -600 140 920 11 67 4vV= ¢A -420 8.0 98.0
3 73 4vyN-3 #A -300 8.0 98.0|280 217 3NO= vK -600 14.0 920| 13 65 4v V= &A -420 8.0 98.0
102 178 4y S-3 45 -300 80 980 11 65 3NV+1 «A  -630 5.0 101.0|101 175 4v V= &A  -420 8.0 98.0
202 276 4v S-3 45 -300 80 980| 70 6 3NV+l1 &A  -630 5.0 101.0 (104 172 4v V= +A  -420 8.0 98.0
210 268 4v S-3 &9 -300 8.0 98.0(103 177 3NV+1 &A  -630 5.0 101.0|206 274 4v V= ¢A  -420 8.0 98.0
280 217 4v N-3 &A  -300 8.0 98.0|106 174 3NV +1 4T  -630 5.0 101.0|265 215 4v V= ¢K  -420 8.0 98.0
180 118 4v N-4 #A  -400 2.0 104.0 (114 166 3NV+1 &K  -630 5.0 101.0 (272 208 4v V= +¢A  -420 8.0 98.0
201 277 44DS-3 45 -800 0.0 106.0 (269 209 3NO+1 ¥K  -630 5.0 101.0| 10 68 6¢DN-4 vA  -800 0.0 106.0
34 aD Basta kontrakt 35 4985 Basta kontrakt 36 aKn Basta kontrakt
Ost vED75 64 S =1370 Syd v K1065 4e S =420 Vast v EDKn8 4NTN =630
NS ¢ EKn8652 oV +3 Alla +83
#E3 & ¢ v & NT #EKD87 % ¢ v & NT #D109754 & ¢ v & NT
4 KKn752 410843 N 8 128 7 8 +E64 4 KD N9 6 10108 4D9742 4653 N 119 8 8 10
v K962 v Kn104 S 8 128 7 8 v 742 vD9 S 9 6 10108 vK542  v10973 S 119 8 8 10
*7 ¢ K3 051553 4109865 ¢ KD742 047334 ¢ 976 ¢ K54 023443
*K107 #9542 V51563 £62 +Kn1054 V47334 «Kn +EK8 V22442
4 E96 4Kn10732 4 EK108
v 83 v EKn83 v6
+ D1094 ¢ EKn ¢ EDKn102
#DKn86 93 #632
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
80 17 54DV-5 #A 1100 1060 00| 11 69 54DO-5 #8 1400 106.0 0.0 70 10 34DV-5 8 1400 106.0 0.0
205 275 3NS+2 42 660 1020 4.0|268 208 5¢DV-3 #9 800 1040 20| 2 78 3NS+2 v¥2 660 98.0 8.0
206 274 3NN+2 &5 660 1020 40| 17 63 3¢DO-2 v5 500 1020 40| 6 74 3NS+2 &4 660 98.0 8.0
214 266 3NS+2 45 660 102.0 4.0|106 172 44 S+1 «A 450 97.0 9.0| 14 66 3NS+2 44 660 98.0 8.0
6 72 3NS+1 42 630 97.0 9.0(171 107 4v S+1 T 450 97.0 9.0 17 63 3NN+2 ¥3 660 98.0 8.0
178 177 3NS+1 42 630 97.0 9.0(204 272 4v S+1 T 450 97.0 9.0(179 178 3NN+2 ¥T 660 98.0 8.0
8 70 5¢ N+1 «T 620 87.0 19.0(215 217 4v S+1 #6 450 97.0 9.0(212 264 3NS+2 44 660 98.0 8.0
107 169 5¢ N+1 v4 620 87.0 190 2 78 44 S= 46 420 70.0 36.0|263 213 3NS+2 ¢9 660 98.0 8.0
112 164 5¢ N+1 «T 620 87.0 19.0| 5 75 44 S= T 420 700 360 3 77 3NN+1 ¥3 630 84.0 22.0
163 113 5¢ N+1 T 620 87.0 19.0| 9 71 4v N= oK 420 70.0 36.0| 80 18 3NN+l <A 630 84.0 22.0
180 116 5¢ N+1 v4 620 87.0 19.0( 12 68 44 S= 46 420 70.0 36.0|106 172 3NN+1 <A 630 84.0 22.0
217 263 5¢ N+1 44 620 87.0 19.0| 14 66 44 S= &6 420 70.0 36.0(204 272 3NS+1 +9 630 84.0 22.0
264 216 5¢ N+1 vJ 620 87.0 19.0| 64 16 4vy N= ¢4 420 70.0 36.0|207 269 3NS+1 42 630 84.0 22.0
270 210 5¢ N+1 44 620 87.0 19.0( 65 15 44 S= T 420 70.0 36.0(210 266 3NN+1 ¥3 630 84.0 22.0
1 77 5¢ N= 43 600 73.0 330| 70 10 44 S= #6 420 70.0 36.0|280 216 3NN+1 T 630 84.0 22.0
2 76 3NN= &5 600 73.0 33.0| 80 18 44 S= &6 420 700 36.0| 11 69 3NS= 42 600 69.0 37.0
63 15 5¢ N= 4 600 73.0 33.0|102 176 4y N= ¢K 420 700 36.0| 64 16 54N= 46 600 69.0 37.0
75 3 5¢ N= vJ 600 73.0 33.0(108 170 4v S= T 420 700 360 65 15 3NS= 4 600 69.0 37.0
174 102 3NS= 45 600 73.0 33.0(111 167 4v S= T 420 700 36.0| 72 8 3NS= v4 600 69.0 37.0
280 218 5¢ N= 43 600 73.0 33.0|164 114 44 S= #6 420 70.0 36.0|108 170 3NS= 44 600 69.0 37.0
276 204 44 O-5 v8 250 66.0 40.0 (169 109 44 S= #6 420 70.0 36.0(163 115 3NN= T 600 69.0 37.0
5 73 3¢ N+3 «3 170 49.0 57.0(179 178 4v S= &6 420 70.0 36.0|175 103 3NS= 42 600 69.0 37.0
11 67 4¢ N+2 &8 170 49.0 57.0(180 117 44 S= +8 420 70.0 36.0|279 276 3NS=  ¢9 600 69.0 37.0
64 14 4¢ N+2 44 170 49.0 57.0(201 275 44 S= T 420 70.0 36.0 (211 265 24 V-5 +8 500 60.0 46.0
69 9 3¢ N+3 44 170 49.0 57.0(203 273 44 S= T 420 70.0 36.0|104 174 24 V-4 &7 400 58.0 48.0
101 175 4¢ N+2 &4 170 49.0 57.0(209 267 44 S= 44 420 70.0 36.0|101 177 2v O-3 4A 300 56.0 50.0
103 173 4¢ N+2 T 170 49.0 57.0(210 266 4v S= ¢6 420 700 360 9 71 2NN+3 v7 210 51.0 55.0
110 166 4¢ N+2 &4 170 49.0 57.0(211 265 4v S= ¢9 420 70.0 36.0|111 167 INN+4 #A 210 51.0 55.0
111 165 3¢ N+3 vJ 170 49.0 57.0(218 214 4v S= ¢5 420 70.0 36.0|164 114 INN+4 #K 210 51.0 55.0
115 117 4¢ N+2 2 170 49.0 57.0[270 206 44 S= T 420 70.0 36.0 (268 208 INS+4 &4 210 51.0 55.0
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118 114 4¢ N+2 &8 170 49.0 57.0 1 79 14 S+3 &6 170 43.0 63.0 7 73 INN+3 &A 180 39.0 67.0
168 108 4¢ S+2 «T 170 490 570 13 67 24 S+2 9 170 43.0 63.0(110 168 2NN+2 3 180 39.0 67.0
179 176 3¢ N+3 vJ 170 490 570 76 4 34S+1 ¢J 170 43.0 63.0|112 166 INN+3 &K 180 39.0 67.0
202 278 1¢ N+5 &4 170 49.0 57.0(205 271 2v N+2 &K 170 43.0 63.0(116 118 INN+3 &A 180 39.0 67.0
211 269 3¢ N+3 «T 170 49.0 57.0(101 177 3v S= v2 140 35.0 71.0(201 275 INN+3 &8 180 39.0 67.0
212 268 4¢ N+2 «4 170 49.0 57.0|104 174 3v N= ¢K 140 35.0 71.0(218 214 INN+3 &6 180 39.0 67.0
213 267 4¢ N+2 vJ 170 49.0 57.0(263 213 3v S= T 140 35.0 71.0(270 206 2NS+2 &2 180 39.0 67.0
12 66 3¢ N+2 &4 150 28.0 78.0(274 202 2v S+1 T 140 35.0 71.0(274 202 INN+3 &6 180 39.0 67.0
13 65 3¢ N+2 &4 150 28.0 78.0 3 77 464 S-1 o7 -50 170 89.0| 76 4 44 N+1 T 150 220 84.0
71 7 4¢ N+1 &4 150 28.0 78.0 6 74 4v S-1 T -50 17.0 89.0(105 173 2NN+1 T 150 220 84.0
105 171 3¢ N+2 &4 150 28.0 78.0 7 73 4v S-1 o7 -50 17.0 89.0(169 109 2NS+1 &J 150 22.0 84.0
201 279 4¢ N+1 «T 150 280 78.0| 72 8 4#N-1 K -50 17.0 89.0|171 107 INN+2 ¢4 150 220 84.0
10 68 4¢ N= 4 130 19.0 87.0|105 173 4v S-1 T -50 17.0 89.0(180 117 3« N+2 T 150 220 84.0
104 172 3¢ N+1 &3 130 19.0 87.0|110 168 4v N-1 K -50 17.0 89.0(203 273 INN+2 &K 150 22.0 84.0
109 167 3¢ N+1 &3 130 19.0 87.0|112 166 4v S-1 +9 -50 17.0 89.0|205 271 3&# N+2 3 150 22.0 84.0
207 273 3¢ N+1 44 130 19.0 87.0|113 165 44 S-1 %6 -50 17.0 89.0(209 267 3« N+2 T 150 220 84.0
170 106 3¢ N= 4 110 14.0 92.0|116 118 4v S-1 T -50 17.0 89.0(215 217 24 N+3 v9 150 22.0 84.0
4 74 3e V- &A 100 11.0 95.0|163 115 44 S-1 %6 -50 17.0 89.0 5 75 3« N+1 T 130 11.0 95.0
79 78 34 V-2 &A 100 11.0 95.0|175 103 4v S-1 T -50 17.0 89.0(113 165 24 N+2 T 130 11.0 95.0
265 215 1 V= &A -80 8.0 98.0(207 269 4v S-1 T -50 17.0 89.0| 12 68 2NN= v3 120 8.0 98.0
16 18 34 S- *7 -100 5.0 101.0 (212 264 44 S-1 &6 -50 17.0 89.0 (278 277 24 S= &J 90 6.0 100.0
209 271 3NS-1 &5 -100 5.0 101.0 (278 277 4v S-1 T -50 17.0 89.0( 13 67 2NN-1 +3 -100 3.0 103.0
203 277 2 V= *A -110 2.0 104.0 (279 276 64 S-2 &2 -100 1.0 105.0|102 176 3NN-1 «T -100 3.0 103.0
272 208 5¢DN-1 T -200 0.0 106.0|280 216 4v S-2 T -100 1.0 105.0 1 79 3NN-2 #3 -200 0.0 106.0
37 4 KD75 Basta kontrakt 38 4 EKn9 Basta kontrakt 39 & Kn42 Basta kontrakt
Nord v K9643 5¢ O =-400 Ost v E1053 ANT N =430 Syd v- 6v V D -3 800
NS +73 ov + E8632 Alla + EK87
&KKn & ¢ v & NT &E & ¢ v & NT &#KD8743 & ¢ v & NT
4Kn863 «E N3 256 4 4632 « KD1085 N 4 9 106 10 (e- & K108753 N 12104 115
vD5 v EKn107 S32563 v KD9 v4 S 4 9 106 9 |vEKn1095432 vK8 S 12104 115
4985 ¢+ EDKn62 O 10118 7 9 ¢- +Knl0954 O 8 4 1 6 3 [¢DKnl06 32 012922
#D1093 #E62 V 10118 7 9 #Knl1087653 #K2 V9 4 36 3 |#6 #1052 Vvi1i2922
410942 a74 4 ED96
v 82 v Kn8762 v D76
+ K104 + KD7 ¢ 954
#8754 D94 &EKnN9
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
18 64 3NV-2 v4 100 105.0 1.0 7 75 34DV-3 #A 800 105.0 1.0 (177 105 6& S = vA 1370 105.0 1.0
106 101 3NO-2 &5 100 105.0 1.0|205 279 54DV -3 vA 800 105.0 1.0 (209 277 6& N = vK 1370 105.0 1.0
105 102 3v O-1 T 50 98.0 80| 73 9 4¢DN= &K 510 102.0 4.0(264 266 44D S +1 6 990 102.0 4.0
116 170 3NO-1 &5 50 98.0 80| 15 67 44DO-2 #4 500 96.0 100 67 17 44DS= vA 790 98.0 8.0
179 107 3NO-1 2 50 98.0 8.0| 66 16 5#DV-2 vA 500 96.0 10.0|102 101 44DS= vA 790 98.0 8.0
205 279 5¢ O-1 v8 50 98.0 8.0|110 176 34D O-2 ¢K 500 96.0 10.0(108 174 44DS= vA 790 98.0 8.0
208 276 3NO-1 42 50 98.0 8.0|114 172 54DV -2 vA 500 96.0 100 14 70 3NS+2 vA 660 93.0 13.0
12 70 2¢ O+1 +¢8 -110 90.0 16.0|167 163 44D O-2 4A 500 96.0 10.0(171 111 3NS+2 A 660 93.0 13.0
66 16 2¢ O+1 v8 -110 90.0 16.0|105 102 3NN+1 &K 430 90.0 16.0(114 168 44 S+1 <vA 650 90.0 16.0
215 269 3¢ O= v8 -110 90.0 16.0 2 1 4v S= &) 420 64.0 42.0 3 2 5#S+1 vA 620 87.0 19.0
80 63 2NO= T -120 86.0 20.0 3 79 4v N= aK 420 64.0 42.0(215 271 44 S= +Q 620 87.0 19.0
2 1 3¢40+1 +8 -130  73.0 33.0 6 76 4v S= 46 420 64.0 420| 80 64 5# S= vA 600 76.0 30.0
4 78 26 O+2 &2 -130  73.0 33.0 8 74 4v S= &8 420 64.0 42.0|106 176 5# S = vA 600 76.0 30.0
6 76 2¢ O+2 8 -130  73.0 330 12 70 4v S= a2 420 64.0 42.0(113 169 5& S= vA 600 76.0 30.0
13 69 3¢ O+1 +v8 -130 730 330 13 69 4v S= 46 420 64.0 42.0|118 164 5% S = vA 600 76.0 30.0
117 169 2¢ O+2 8 -130 730 330 18 64 4v S= 6 420 64.0 42.0|165 117 5& N = vK 600 76.0 30.0
204 201 3¢ O+1 +8 -130  73.0 330 65 17 4v S= 46 420 64.0 42.0(212 274 5& S= vA 600 76.0 30.0
209 275 2¢ O+2 v8 2130 730 330 71 11 4v S= &) 420 64.0 42.0|217 269 5# N = vK 600 76.0 30.0
211 273 2¢ O+2 +8 -130 730 330( 77 5 4vS= 6 420 64.0 42.0|273 213 5 S= +Q 600 76.0 30.0
213 271 2¢ O+2 8 -130 73.0 33.0( 80 63 4v S= &J 420 64.0 42.0|280 265 5% S = +J 600 76.0 30.0
267 217 2¢ O+2 v8 -130 73.0 33.0(106 101 4v S= a2 420 64.0 42.0 4 1 4vDV-1 ¢K 200 61.0 45.0
272 212 3¢ O+1 +8 -130  73.0 33.0(108 178 4v N= oK 420 64.0 420| 15 69 5vDV-1 ¢K 200 61.0 45.0
274 210 3¢ O+1 8 -130  73.0 33.0|115 171 4v S= &J 420 64.0 42.0(104 178 5vDV-1 ¢A 200 61.0 45.0
10 72 4¢ O+1 v8 -150 55.0 51.0(117 169 4v S= a2 420 64.0 42.0|110 172 5¢vDV-1 ¢A 200 61.0 45.0
71 11 3¢ O+2 ¥8 -150 55.0 51.0(164 166 4v S= &T 420 64.0 42.0|112 170 5vDV-1 ¢A 200 61.0 45.0
108 178 3¢ O+2 +8 -150 55.0 51.0(168 118 4v S= &J 420 64.0 42.0(206 201 4vDV-1 ¢A 200 61.0 45.0
114 172 2¢ O+3 ¥8 -150 55.0 51.0(179 107 4v S= &8 420 64.0 42.0|115 167 4« N+2 ¢3 170 53.0 53.0
173 113 2¢ O+3 v8 -150 55.0 51.0(203 202 4v S= &) 420 64.0 42.0|216 270 34 S+1 #6 170 53.0 53.0
266 218 INO+2 8 -150 55.0 51.0(209 275 4v S= &J 420 64.0 42.0(180 163 44 N+1 vK 150 49.0 57.0
104 103 2¢ O+4 +8 -170 48.0 58.0 (211 273 4v S= a2 420 64.0 42.0|267 263 4« N+1 K 150 49.0 57.0
3 79 24DN-1 #A -200  46.0 60.0 (214 270 4y N= ¢«J 420 64.0 42.0 5 79 5v V-1 ¢A 100 45.0 61.0
115 171 INO+4 3 -210  43.0 63.0(215 269 4v S= &J 420 64.0 42.0(279 207 5v V-1 ¢K 100 450 61.0
278 206 INO+4 v8 -210  43.0 63.0 (266 218 4y N= aK 420 64.0 420| 16 68 6#S-1 ©vA -100 38.0 68.0
110 176 3NO = *4 -400 36.0 70.0(280 264 4v S= 6 420 64.0 420| 72 12 5 N-1 vK -100 38.0 68.0
112 174 3NO= +3 -400 36.0 70.0(104 103 3v S+2 #J 200 33.0 73.0(107 175 44 S-1 vA -100 38.0 68.0
167 163 3NO= v8 -400 36.0 70.0(109 177 44 O-2 2 200 33.0 73.0(166 116 64 N-1 ¥K -100 38.0 68.0
216 268 3NO= &3 -400 36.0 70.0(204 201 3v S+2 &3 200 33.0 73.0(210 276 54 N-1 vK -100  38.0 68.0
280 264 3NO = v8 -400 36.0 70.0|207 277 34 O-2 ¢K 200 33.0 73.0 7 77 54DS-1 vA -200  26.0 80.0
7 75 3NO+1 v8 -430 25.0 81.0(267 217 3v S+2 &T 200 33.0 73.0 9 75 44DS-1 vA -200  26.0 80.0
65 17 3NO+1 +8 -430 25.0 81.0(274 210 4DV -1 vA 200 330 730 11 73 64DS-1 vA -200  26.0 80.0
73 9 3NO+1 +8 -430 25.0 810| 10 72 3vS+1 &6 170 240 820( 78 6 44DS-1 vA -200  26.0 80.0
109 177 3NO+1 +8 -430 25.0 81.0(263 265 3vy N+1 &T 170 240 82.0|103 179 44 S-2 vA -200  26.0 80.0
168 118 3NO+1 v8 -430 25.0 81.0(278 206 3v N+1 &K 170 24.0 82.0|173 109 54 S-2 ©vA -200  26.0 80.0
207 277 3NO+1 2 -430 25.0 81.0|173 113 3¢ N= v4 110 19.0 87.0|204 203 44D S-1 vA -200  26.0 80.0
8 74 3NO+2 +v8 -460 10.0 96.0 |208 276 3¢ N= v4 110 19.0 87.0| 63 65 4vDS-2 ¢Q -500 18.0 88.0
14 68 3NO+2 +8 -460 10.0 96.0( 14 68 34 O-1 ¢K 100 16.0 90.0| 13 71 4vO= ¢ A -620 15.0 91.0
15 67 3NO+2 ¢8 -460 10.0 96.0 4 78 4¢ N-1 v4 -50 11.0 95.0|275 211 4v V= *A -620 15.0 91.0
77 5 3NO+2 8 -460 10.0 96.0 (116 170 4v S-1 46 50 11.0 95.0( 66 18 4¢vyDV= +¢A -790 9.0 97.0
164 166 3NO+2 ¢8 -460 10.0 96.0 (175 111 3¢ N-1 +v4 50 11.0 95.0( 74 10 4vyDV= +A -790 9.0 97.0
175 111 3NO+2 8 -460 10.0 96.0 (180 165 4v N-1 &K -50 11.0 95.0(208 278 4vDV= +¢K -790 9.0 97.0
180 165 3N O +2 &8 -460 10.0 96.0 (216 268 3¢ N-2 &K -100 6.0 100.0 (268 218 4vDV = +¢A -790 9.0 97.0
214 270 3NO+2 +8 -460 10.0 96.0 (213 271 24 O= +K -110 4.0 102.0 8 76 3vyDV+1 ¢+A -930 2.0 104.0
263 265 3NO+2 +¢8 -460 10.0 96.0 (112 174 6NN-3 &K -150 2.0 104.0 205 202 3vDV +1 ¢K -930 2.0 104.0
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203 202 1vDN-3 «A  -800 0.0 106.0 (272 212 4¢DN-2 &K  -300 0.0 106.0 (214 272 3vDV+1 ¢A  -930 2.0 104.0
40 « K10854 Basta kontrakt 41 + Kn10875 Basta kontrakt 42 «D1053 Basta kontrakt
Vast v EKn53 5¢ V =-400 Nord v K1042 2NT O =-120 Ost vD5 3v O =-140
Ingen ¢- (0)Y) ¢- Alla + D82
#E1054 & ¢ v & NT #D654 & ¢ v & NT #E1075 & ¢ v & NT
4E973 4D N52674 4 K962 &E43 N6 6 6 65 4874 ~ K6 N544765
v872 vKD9 S52674 vE75 vD93 S66 6 65 vKKn106 vE74 S54475
¢+KD9 ¢EKnl10765 O 7 116 6 9 ¢ EK9 #7543 o077 778 + E95 ¢ KKn103 089 96 8
#K32 #DKn6 vV 7 116 6 9 #E73  #K92 Vv777738 K94 #Kn832 V89 96 8
4 Kn62 «D « EKn92
v 1064 v Kn86 v 9832
¢ 8432 + DKn10862 ¢ 764
*987 #Kn108 *D6
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
177 105 5¢DO-1 42 100 106.0 00| 6 1 440-4 ¢Q 400 106.0 0.0| 17 69 4v V-3 43 300 105.0 1.0
8 76 5¢ V-1 4 50 990 70| 8 78 3NV-3 ¥4 300 100.0 6.0|215 267 2NV-3 45 300 105.0 1.0
80 64 5¢ O-1 &) 50 99.0 7.0| 14 72 44 V-3 #5 300 100.0 6.0|178 106 2NO-2 42 200 100.0 6.0
102 101 5¢ O-1 4J 50 99.0 7.0|108 176 2v O-3 «Q 300 100.0 6.0(207 275 2NV-2 42 200 100.0 6.0
110 172 5¢ O-1 &) 50 99.0 7.0|208 274 44 O-3 +Q 300 100.0 6.0(266 216 2v V-2 43 200 100.0 6.0
112 170 5¢ V-1 #A 50 99.0 7.0|210 272 2y O-3 «Q 300 1000 60| 4 3 3vV-1 43 100 83.0 23.0
209 277 4¢ O-1 2 50 990 70| 15 71 3NV-2 &5 200 840 220| 6 1 3vV-1 &5 100 83.0 23.0
14 70 3¢ O+1 &2 -130 90.0 16.0( 16 70 3NO-2 ¢Q 200 840 220| 8 78 3¢ O-1 «A 100 83.0 23.0
106 176 4¢ O= &) -130  90.0 16.0 (103 102 2NO-2 ¢Q 200 840 220| 64 66 3#0-1 v9 100 83.0 23.0
113 169 3¢ O+1 &) -130  90.0 16.0 (104 101 34 V-2 v2 200 840 220| 75 11 3vV-1 &5 100 83.0 23.0
3 2 3¢V+2 45 -150 77.0 29.0(105 179 34 O-2 4Q 200 84.0 22.0|105 179 3NO-1 42 100 83.0 23.0
5 79 3¢ O+2 &) -150 77.0 29.0 (115 169 34 O-2 ¢Q 200 84.0 22.0|108 176 2NO-1 +9 100 83.0 23.0
7 77 3¢ O+2 42 -150 77.0 29.0 (174 110 3v O-2 ¢Q 200 84.0 22.0|109 175 3NO-1 42 100 83.0 23.0
13 71 2¢ O+3 v4 -150 77.0 29.0(178 106 3¢ O-2 «4Q 200 84.0 22.0|116 168 3NO-1 49 100 83.0 23.0
104 178 3¢ O+2 4 -150 77.0 29.0(203 279 3NO-2 ¢Q 200 84.0 22.0|167 117 3NO-1 42 100 83.0 23.0
115 167 2¢ O+3 3 -150 77.0 29.0(271 211 3NO-2 ¢Q 200 84.0 22.0|204 278 2# O-1 v2 100 83.0 23.0
180 163 4¢ O+1 &) -150 77.0 29.0(273 209 3NO-2 +¢Q 200 84.0 22.0|206 276 2NO-1 v9 100 83.0 23.0
208 278 3¢ O+2 ¥T -150 77.0 29.0( 17 69 3NV-1 4J 100 52.0 54.0|213 269 2NO-1 49 100 83.0 23.0
279 207 3¢ O+2 & -150 77.0 290| 64 66 3NV-1 v4 100 52.0 54.0(277 205 3v V-1 &5 100 83.0 23.0
280 265 44 N-3 A -150 770 29.0| 67 63 3NV-1 v2 100 52.0 54.0| 14 72 Pass 66.0 40.0
9 75 3NV= v3 -400 62.0 44.0( 80 65 3NO-1 ¢Q 100 52.0 54.0| 73 13 Pass 66.0 40.0
11 73 3NO= &2 -400 62.0 44.0(107 177 3NO-1 ¢Q 100 52.0 54.0|271 211 Pass 66.0 40.0
74 10 3NV= v3 -400 62.0 44.0(111 173 3NO-1 +Q 100 520 54.0| 16 70 INO= &2 -90 58.0 48.0
217 269 3NV = v3 -400 62.0 44.0(113 171 3NO-1 ¢J 100 52.0 54.0|103 102 INO= 42 -90 58.0 48.0
275 211 3NV=  #4 -400 62.0 44.0(114 170 3NO-1 ¢J 100 52.0 54.0(180 164 INO= &2 -90 58.0 48.0
66 18 3NV+1l &4 -430 440 62.0(163 165 3NO-1 ¢Q 100 52.0 54.0(203 279 INO= +¥3 -90 58.0 48.0
67 17 3NV+1l 44 -430 440 62.0(166 118 3NO-1 ¢J 100 52.0 54.0|212 270 INO= &2 -90 58.0 48.0
72 12 3NV+1 3 -430 440 62.0(167 117 3NO-1 +Q 100 52.0 54.0|172 112 24 N-1 vA -100 52.0 54.0
118 164 3NV +1 &4 -430 440 62.0(172 112 3NO-1 T 100 52.0 54.0(104 101 2v V= &3 -110 47.0 59.0
165 117 3NV +1 5 -430 440 62.0(180 164 3NO-1 +¢Q 100 52.0 54.0|115 169 1lv V+1 3 -110 47.0 59.0
205 202 3NV +1 T -430 440 62.0(202 201 3NO-1 +Q 100 52.0 54.0|202 201 1lv V+1 &5 -110 47.0 59.0
206 201 3NO+1 8 -430 440 62.0(206 276 3NO-1 ¢Q 100 52.0 54.0(273 209 1lv V+1 &3 -110  47.0 59.0
210 276 3NV +1 &5 -430 440 62.0(212 270 3NV-1 &7 100 520 54.0| 5 2 2NO= a2 -120  30.0 76.0
212 274 3NV +1 3 -430 440 62.0(214 268 3NV-1 «J 100 52.0 54.0| 9 77 2NO= 42 -120  30.0 76.0
216 270 3ANO+1 &J -430 440 62.0(215 267 3NO-1 +¢Q 100 520 54.0| 10 76 2NO= +¥3 -120  30.0 76.0
267 263 3NO+1 42 -430 440 62.0(218 264 2NV-1 v4 100 520 54.0| 68 18 2NO= v9 -120  30.0 76.0
268 218 3NV +1 a5 -430 440 62.0(265 217 3NV-1 &6 100 520 540 79 7 2NO= 49 -120  30.0 76.0
273 213 3NV +1 3 -430 440 62.0(277 205 3NV-1 «4J 100 52.0 54.0| 80 65 INO+1 49 -120  30.0 76.0
4 1 3NO+2 v4 -460 18.0 880| 5 2 24 N-2 &2 -100  29.0 77.0(111 173 2NO=  ¢9 -120  30.0 76.0
63 65 3NV+2 45 -460 18.0 88.0(204 278 3v S-2 &3 -100 29.0 77.0(113 171 2NO= ¢8 -120  30.0 76.0
78 6 3NV+2 3 -460 18.0 880| 4 3 2NV= 4] -120 23.0 83.0(114 170 INO+1 42 -120  30.0 76.0
103 179 3NO+2 &9 -460 18.0 880 9 77 2NO= ¢Q -120 23.0 83.0(166 118 INO+1 42 -120  30.0 76.0
107 175 3NO+2 T -460 18.0 88.0( 12 74 2NO= ¢Q -120 23.0 83.0(214 268 2NO= 42 -120  30.0 76.0
108 174 3NO+2 T -460 18.0 88.0(213 269 2NO= ¢Q -120 23.0 83.0(218 264 2NO= 49 -120  30.0 76.0
166 116 3NV +2 3 -460 18.0 880 10 76 3v¥ O= 4Q -140 18.0 88.0(280 263 2NO= 42 -120  30.0 76.0
171 111 3NV +2 5 -460 18.0 880 7 79 2NV +1 &) -150  16.0 90.0 (265 217 2v V+1 &T -140 16.0 90.0
173 109 3NV +2 &4 -460 18.0 88.0(| 68 18 2¢DS-2 ¢A -300 140 920 12 74 2NO+1 42 -150 10.0 96.0
204 203 3NO+2 T -460 18.0 88.0| 73 13 44DN-3 4A -500 120 940 15 71 INO+2 #Q -150 10.0 96.0
214 272 3NV +2 ¢3 -460 18.0 88.0| 75 11 3NV= 4] -600 6.0 100.0 (163 165 INO+2 ¥3 -150 10.0 96.0
215 271 3NV +2 4 -460 18.0 88.0(109 175 3NV= 4] -600 6.0 100.0 (208 274 2N O +1 2 -150 10.0 96.0
264 266 3NV +2 #4 -460 18.0 88.0 (207 275 3NV= &) -600 6.0 100.0 (210 272 2N O+1 ¢4 -150 10.0 96.0
114 168 3ND O +1 #4J -650 4.0 102.0|266 216 3NV = &7 -600 6.0 100.0| 67 63 24 S-2 +A  -200 3.0 103.
16 68 2¢vDS-4 #Q -800 2.0 104.0 (280 263 3NV= 4] -600 6.0 100.0 (174 110 24 S-2 +A  -200 3.0 103.0
15 69 54DN-5 ¢K -1100 0.0 106.0 (116 168 4vDS-4 ¢A  -800 0.0 106.0 (107 177 3NO= &2 -600 0.0 106.0
43 « DKn1053 Basta kontrakt 44 46 Basta kontrakt 45 « KKn8 Basta kontrakt
Syd v E862 5v N =450 Vast vED76 34 N =140 Nord vKn3 44 O D -2500
Ingen +10 NS + KKn42 Alla 4 Kn3
#ED7 & ¢ v & NT »7632 & ¢ v & NT #EKn9764 & ¢ v o NT
« E962 a4 N 6 4 11108 210432 497 N57697 10753 4 ED642 N 107 7 4 9
v 104 v D95 S 6 4 10108 vKn984 vK52 S576 97 vEK762 ¢85 S 107 7 4 8
¢ DKn865 ¢ K742 06 9233 ¢ 95 ¢ E1063 075745 4642 ¢ D1097 0365384
#Kn3 #K10862 V69233 #EKn8 #KD105 V75745 2«10 £32 V36584
« K87 « EKDKn85 49
v KKn73 v 103 vD1094
¢ E93 + D87 + EK85
#954 *94 #KD85
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
211 279 5¢DV-3 vA 500 106.0 0.0|277 213 3NN= #K 600 106.0 0.0(165 167 3NS+2 vA 660 105.0 1.0
65 67 4v N+2 &6 480 1020 4.0| 68 64 2NN+2 vK 180 1040 2.0|203 210 3NS+2 vA 660 1050 1.0
115 177 4v N+2 &3 480 1020 40| 5 4 24S+2 +9 170 83.0 230 7 4 3NN+l &A 630 97.0 9.0
171 165 4v N+2 &8 480 1020 40| 7 2 24S+2 49 170 83.0 230 11 79 3NS+1 vA 630 97.0 9.0
6 3 4v N+l &4 450 79.0 27.0| 11 77 24 S+2 +9 170 83.0 23.0| 77 13 3NN+1 42 630 97.0 9.0
9 79 4v S+1 #J 450 79.0 27.0| 15 73 24 S+2 #A 170 83.0 23.0| 80 67 3NN+1 +J 630 97.0 9.0
13 75 44 N+1 &8 450 79.0 27.0| 16 72 24 S+2 A 170 83.0 23.0(217 275 3NS+1 vA 630 97.0 9.0
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16 72 4v S+1 &A 450 79.0 27.0| 65 67 34 S+1 45 170 83.0 23.0(218 274 3NN+1 42 630 97.0 9.0
17 71 4vy N+1 &4 450 79.0 27.0| 76 12 24 S+2 +9 170 83.0 23.0(| 12 78 3NS= 43 600 80.0 26.0
18 70 4v N+1 &4 450 79.0 27.0| 80 66 24 S+2 ¢9 170 83.0 23.0| 70 64 3NN= ¥8 600 80.0 26.0
76 12 44 N+1 &4 450 79.0 27.0|103 110 24 S+2 49 170 83.0 23.0| 75 15 3NN= 42 600 80.0 26.0
103 110 44 N+1 5 450 79.0 27.0|107 106 24 S+2 ¢9 170 83.0 23.0(109 179 3NN= #2 600 80.0 26.0
108 105 4v S+1 6 450 79.0 27.0|109 104 24 S+2 ¢9 170 83.0 23.0(115 173 3NN= 43 600 80.0 26.0
111 102 44 N+1 &6 450 79.0 27.0|113 179 34 S+1 &A 170 83.0 23.0(116 172 3NN= 42 600 80.0 26.0
113 179 44 N+1 &T 450 79.0 27.0|115 177 24 S+2 ¢3 170 83.0 23.0(117 171 3NN= ¥8 600 80.0 26.0
117 175 44 N+1 &7 450 79.0 27.0|164 172 24 S+2 +9 170 83.0 23.0(207 206 3NN= 42 600 80.0 26.0
170 166 4v N+1 48 450 79.0 27.0|167 169 24 S+2 49 170 83.0 23.0(212 201 3NS= v2 600 80.0 26.0
208 203 4y N+1 &4 450 79.0 27.0|202 209 24 S+2 ¢9 170 83.0 23.0(264 272 3NN= &4 600 80.0 26.0
212 278 44 N+1 &2 450 79.0 27.0|207 204 24 S+2 ¢9 170 83.0 23.0|276 216 BNN= 44 600 80.0 26.0
214 276 4y S+1 &3 450 79.0 27.0|211 279 24 S+2 ¢9 170 83.0 23.0|174 114 44DO-1 ¢K 200 67.0 39.0
216 274 4v S+1 &J 450 79.0 27.0|216 274 24 S+2 &A 170 83.0 23.0(215 277 44D O-1 #K 200 67.0 39.0
217 273 44 N+1 5 450 79.0 27.0|280 267 24 S+2 ¢9 170 83.0 23.0(105 104 3#S+1 vA 130 55.0 51.0
270 264 44 N+1 &6 450 79.0 27.0|180 168 2NV -3 46 150 62.0 44.0|106 103 2# S+2 vA 130 55.0 51.0
277 213 44 N+1 &2 450 79.0 27.0 1 8 24S+1 ¢9 140 44.0 62.0(107 102 3#S+1 vA 130 55.0 51.0
1 8 44 N= #8 420 50.0 56.0 9 79 24 S+1 &#A 140 440 62.0|110 178 3« N+1 v8 130 55.0 51.0
5 4 44 N= ¢2 420 50.0 56.0| 74 14 24 S+1 42 140 440 62.0(118 170 4« N= v8 130 55.0 51.0
15 73 4v S= +Q 420 50.0 56.0 (108 105 34 S= #8 140 440 62.0(169 163 3« N+1 ¥8 130 55.0 51.0
107 106 4v N= &J 420 50.0 56.0 (112 101 24 S+1 #A 140 440 62.0(208 205 4 N= 4A 130 55.0 51.0
164 172 44 N= ¢2 420 50.0 56.0 (118 174 24 S+1 ¥8 140 44.0 62.0(209 204 3#S+1 vA 130 55.0 51.0
176 116 44 N= &2 420 50.0 56.0 (163 173 24 S+1 ¢9 140 44.0 62.0(270 266 4« N= A 130 55.0 51.0
180 168 44 N= v5 420 50.0 56.0 (170 166 24 S+1 +9 140 440 62.0(278 214 3« N+1 ¥8 130 55.0 51.0
210 201 4v S= +Q 420 50.0 56.0 (176 116 24 S+1 +9 140 44.0 62.0(211 202 2NN= 42 120 44.0 62.0
280 267 44 N= &4 420 50.0 56.0 (206 205 24 S+1 ¢9 140 440 620 2 9 5&4N-1 9 -100 29.0 77.0
206 205 44DV -2 «Q 300 40.0 66.0 (210 201 24 S+1 &#A 140 440 620 6 5 3NN-1 8 -100 29.0 77.0
7 2 3¥yN+3 &8 230 37.0 69.0 (212 278 14 S+2 #A 140 440 620 16 74 54 N-1 9 -100 29.0 77.0
218 272 3vy N+3 &6 230 37.0 69.0(217 273 24 S+1 v8 140 440 620 17 73 54 N-1 &3 -100 29.0 77.0
10 78 3v N+2 «4 200 33.0 73.0(218 272 34 S= &#A 140 440 620| 63 71 54S-1 ©vA -100 29.0 77.0
74 14 3v N+2 ¢4 200 33.0 73.0(266 268 24 S+1 ¢7 140 440 620| 66 68 54 N-1 8 -100 29.0 77.0
178 114 INS+3 T 180 30.0 76.0 (270 264 24 S+1 #A 140 44.0 62.0(113 175 54 S-1 vA -100 29.0 77.0
112 101 3v S+1 5 170 26.0 80.0 (275 215 24 S+1 #A 140 440 62.0(168 164 54 N-1 +v8 -100 29.0 77.0
118 174 34 N+1 5 170 26.0 80.0| 10 78 24 S= &#A 110 22.0 84.0|176 112 54 N-1 4A -100 29.0 77.0
275 215 3vy S+1 &2 170 26.0 80.0| 13 75 24 S= &#A 110 22.0 84.0|180 166 54 N-1 43 -100 29.0 77.0
109 104 34 N= &6 140 19.0 87.0|111 102 24 S= &#A 110 22.0 84.0)|213 279 54 N-1 4A -100 29.0 77.0
167 169 34 N= &2 140 19.0 87.0|117 175 24 S= &A 110 22.0 84.0|263 273 54 N-1 &2 -100 29.0 77.0
266 268 34 N= ¢2 140 19.0 87.0|269 265 24 S= &A 110 22.0 84.0|267 269 54 N-1 &A -100 29.0 77.0
269 265 3vy S= &J 140 19.0 87.0| 17 71 INV-2 46 100 14.0 92.0(271 265 5# N-1 &A -100 29.0 77.0
68 64 3¢DV-1 4Q 100 140 92.0| 18 70 INDO-1 «A 100 140 92.0| 14 76 34 O= &K -140 14.0 92.0
11 77 4vy N-1 «4 -50 7.0 99.0(214 276 3v V-2 46 100 140 920| 8 3 64N-2 8 -200 8.0 98.0
69 63 44 N-1 &6 -50 7.0 99.0(171 165 INO-1 &A 50 100 96.0| 10 1 2v S-2 &T -200 8.0 98.0
80 66 44 N-1 v5 -50 70 990 6 3 3NN-1 &K -100 6.0 100.0| 18 72 64S-2 YA -200 8.0 98.0
163 173 44 N-1 v5 -50 7.0 99.0(178 114 3NS-1 9 -100 6.0 100.0 (101 108 5# N-2 v5 -200 8.0 98.0
202 209 4v S-1 ] -50 7.0 99.0(263 271 3NN-1 &K -100 6.0 100.0 (111 177 54 N-2 +8 -200 8.0 98.0
207 204 44 N-1 44 -50 7.0 99.0| 69 63 34 S-2 &A -200 1.0 105.0| 69 65 44 S-3 YA -300 2.0 104.0
263 271 6v S-2 &J -100 0.0 106.0 (208 203 44 S-2 &A -200 1.0 105.0 (280 268 34D O = ¢A -730 0.0 106.0
46 4 K93 Basta kontrakt 47 4 EKD9832 Basta kontrakt 48 4 KD Basta kontrakt
Ost vE64 34 OD-1100 Syd v K10 6NT S = 1440 Vast v KDKn10 4v ND-1-100
Ingen + D64 NS 5 ov 32
#K942 & ¢ v & NT #E94 & ¢ v & NT #ED875 & ¢ v & NT
4 D74 & E8652 N85958 454 4106 N 128 6 1212 410986 4 EKn732 N859 46
vKn975 v- S85958 v EDKn985 v 7643 S 128 6 1212 v52 v E97 S 85946
¢+ K108 ¢ Kn9732 048485 + DKn ¢ K9832 004600 ¢+ E1074 ¢ Kn96 047 497
&E73 »D86 V58485 #1082 &D5 VO4600 &#Kn102 #K4 V47497
4 Knl10 4 Kn7 454
v KD10832 v2 v 8643
¢ E5 + E10764 + KD85
#Kn105 #KKn763 #963
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
16 74 4v S= 44 420 103.0 3.0(280 266 64 N+1 #Q 1460 106.0 00| 3 10 34 S= &5 140 103.0 3.0
66 68 4v S= +8 420 103.0 3.0(106 105 6N S= vA 1440 104.0 2.0 15 77 3v N= A 140 103.0 3.0
212 201 4vy N= &4 420 103.0 3.0(112 178 64 N=  +3 1430 101.0 5.0(177 113 2¢v N+1 &A 140 103.0 3.0
217 275 4v S= +8 420 103.0 3.0(215 273 64 N= v7 1430 101.0 5.0(276 212 3vy N= &4A 140 103.0 3.0
17 73 3NN= &A 400 97.0 90| 12 1 44 N+3 #Q 710 96.0 10.0| 71 65 3#N= +6 110 98.0 8.0
165 167 3NN=  &A 400 97.0 9.0 17 75 44 N+3 #Q 710 96.0 10.0| 67 69 34 O-1 ¥3 100 92.0 14.0
105 104 2v S+2 &3 170 93.0 13.0(166 168 44 N+3 #Q 710 96.0 10.0| 76 16 34 O-1 49 100 92.0 14.0
267 269 2v S+2 v5 170 93.0 13.0( 3 10 44 N+2 ¥5 680 56.0 50.0|106 105 34 O-1 6 100 92.0 14.0
203 210 44 O-3 ¢A 150 90.0 160 7 6 54 N+1 v7 680 56.0 50.0|117 173 34 O-1 &5 100 92.0 14.0
12 78 3v S= v5 140 820 240| 8 5 44 N+2 v7 680 56.0 50.0|280 266 34 O-1 &9 100 92.0 14.0
77 13 2v N+1 &A 140 82.0 240| 11 2 44 N+2 v7 680 56.0 500 8 5 2&4aN= 46 90 84.0 22.0
106 103 3v S= +8 140 82.0 24.0| 13 79 44 N+2 v4 680 56.0 50.0 (180 167 2# N= vA 90 84.0 22.0
111 177 3v S= &4 140 82.0 240| 15 77 44 N+2 v7 680 56.0 50.0|268 264 1&# N+1 43 90 84.0 22.0
115 173 3v S= 43 140 82.0 24.0| 18 74 44 N+2 v4 680 56.0 50.0| 17 75 4v N-1 46 -50 71.0 35.0
180 166 3v S= 44 140 82.0 24.0| 64 72 44 N+2 ¢2 680 56.0 50.0 (102 109 4v N-1 &A -50 71.0 35.0
271 265 3y S= &7 140 82.0 240| 70 66 44 N+2 v4 680 56.0 50.0|112 178 4v N-1 4A -50 71.0 35.0
80 67 3#aN= 3 110 710 350| 76 16 54 N+1 v2 680 56.0 50.0 (116 174 3v S-1 T -50 71.0 35.0
168 164 2v S= +8 110 71.0 350| 78 14 44 N+2 v4 680 56.0 50.0(118 172 3« N-1 vA -50 71.0 35.0
218 274 2v S= &A 110 710 350| 80 68 54 N+1 v4 680 56.0 50.0|169 165 3v N-1 +6 -50 71.0 35.0
276 216 2v S= +8 110 71.0 35.0|102 109 44 N+2 ¥8 680 56.0 50.0 (210 278 4v N-1 &A -50 71.0 35.0
207 206 44 O-2 +5 100 65.0 41.0|107 104 44 N+2 v7 680 56.0 50.0 (211 277 4v N-1 +6 -50 71.0 35.0
264 272 44 O-2 +A 100 65.0 41.0|108 103 44 N+2 ¥3 680 56.0 50.0|213 275 4v N-1 4A -50 71.0 35.0
69 65 34 O0-1 4 50 61.0 45.0|110 101 44 N+2 ¥3 680 56.0 50.0 (274 214 INN-1 &7 -50 71.0 35.0
176 112 44 O-1 vK 50 61.0 45.0|111 179 44 N+2 &Q 680 56.0 500 7 6 INN-2 a2 -100 50.0 56.0
2 9 4vS-1 8 -50 39.0 67.0|114 176 54 N+1 v7 680 56.0 50.0| 64 72 4v N-2 &A -100 50.0 56.0
6 5 4vS-1 «Q -50 39.0 67.0|116 174 44 N+2 v4 680 56.0 500 70 66 3vy N-2 v7 -100 50.0 56.0
8 3 4vS-1 3 -50 39.0 67.0|117 173 54 N+1 v2 680 56.0 500 78 14 34 N-2 +¢6 -100 50.0 56.0
10 1 4vS-1 +8 -50 39.0 67.0|118 172 44 N+2 v9 680 56.0 50.0|111 179 2NN-2 &2 -100 50.0 56.0
11 79 4v S-1 #4 -50 39.0 67.0|163 171 44 N+2 v4 680 56.0 50.0 (166 168 44 N-2 &A -100 50.0 56.0
14 76 4v S-1 &A -50 39.0 67.0|170 164 54 N+1 7 680 56.0 50.0|170 164 44 N-2 8 -100 50.0 56.0
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18 72 4v S-1 &A -50 39.0 67.0|175 115 54 N+1 ¥4 680 56.0 50.0(175 115 3vy N-2 v7 -100 50.0 56.0
63 71 4v S-1 +8 -50 39.0 67.0|177 113 44 N+2 7 680 56.0 50.0(207 202 2NS-2 T -100 50.0 56.0
70 64 4v S-1 4Q -50 39.0 67.0|180 167 44 N+2 v3 680 56.0 50.0(218 270 4vDN-1 «A -100 50.0 56.0
109 179 4v S-1 48 -50 39.0 67.0|205 204 44 N+2 v4 680 56.0 50.0 (265 267 4y N-2 v7 -100 50.0 56.0
113 175 4v S-1 #A -50 39.0 67.0|206 203 44 N+2 ¥4 680 56.0 500 12 1 34 0= &9 -140 25.0 81.0
116 172 4v S-1 #A -50 39.0 67.0|207 202 44 N+2 v7 680 56.0 500 13 79 24 O+1 +8 -140 25.0 81.0
117 171 4v N-1 4 -50 39.0 67.0|209 279 54 N+1 v7 680 56.0 500 63 73 34 O= 8 -140 25.0 81.0
208 205 4v S-1 44 -50 39.0 67.0|210 278 44 N+2 7 680 56.0 500 80 68 34 O= &9 -140 25.0 81.0
209 204 3v N-1 &A -50 39.0 67.0|216 272 44 N+2 v7 680 56.0 50.0 (107 104 34 O= %6 -140 25.0 81.0
213 279 4v S-1 4Q -50 39.0 67.0|217 271 44 N+2 v4 680 56.0 50.0(108 103 24 O+1 +¢5 -140 25.0 81.0
215 277 4v S-1 43 -50 39.0 67.0|268 264 44 N+2 v6 680 56.0 50.0(110 101 34 O= &9 -140 25.0 81.0
263 273 4v S-1 44 -50 39.0 67.0|269 263 44 N+2 v4 680 56.0 50.0(114 176 24 O+1 ¢Q -140 25.0 81.0
270 266 3v S-1 &3 -50 39.0 67.0|274 214 44 N+2 v4 680 56.0 50.0(163 171 34 O= ¢K -140 25.0 81.0
280 268 4v S-1 #A -50 39.0 67.0|276 212 54 N+1 ¥3 680 56.0 50.0(201 208 34 O= +v8 -140 25.0 81.0

7 4 4v S-2 44 -100 120 94.0| 67 69 44 N+1 6 650 16.0 90.0|206 203 24 O+1 %9 -140 25.0 81.0
75 15 4vyDS-1 44 -100  12.0 94.0 (211 277 44 N+1 4 650 16.0 90.0|216 272 34 O= %9 -140 25.0 81.0
107 102 4v S-2 +8 -100 12.0 94.0|265 267 44 N+1 ¥4 650 16.0 90.0)|217 271 34 O= ¢Q -140 25.0 81.0
110 178 4v S-2 «Q -100 12.0 94.0|218 270 4vDV-3 4K 500 12.0 94.0|269 263 24 O+1 #3 -140 25.0 81.0
118 170 4v S-2 &3 -100 120 94.0| 63 73 5vV-5 &4A 250 10.0 96.0 9 4 4vyN-3 +6 -150 9.0 97.0
174 114 4v S-2 45 -100 12.0 94.0 9 4 34N+3 v7 230 6.0 100.0 (215 273 4vy N-3 YA -150 9.0 97.0
211 202 4v S-2 #A -100  12.0 94.0(201 208 34 N+3 7 230 6.0 100.0 (209 279 24 O+2 ¢K -170 6.0 100.0
101 108 4v S-3 #A -150 2.0 104.0 (213 275 34 N+3 7 230 6.0 1000 11 2 4vDS-2 ¢A -300 3.0 103.0
169 163 3NN-3 46 -150 2.0 104.0| 71 65 34 N+2 +4 200 1.0 105.0 (205 204 S5#DN-2 «A -300 3.0 103.0
278 214 4v S-3 44 -150 2.0 104.0 (169 165 24 N+3 v4 200 1.0 1050 18 74 34DO= 6 -730 0.0 106.0
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